UGC NET 2022 PUNJABI

Topic:- 24_PARTA_S1

1) w3 & wafesl foag 2 fesaag winls UAsSs = a9 35 37
[Question ID = 906][Question Description = 101_24_Punjabi_0CT22_Q01]
1. wag iy

[Option ID = 3621]
2. g8 iy g=g

[Option ID = 3622]
3. yadis fHy

[Option ID = 3623]
4. Taus iy ws

[Option ID = 3624]

2) IR URIR 2 Byl w3 Auee o Adh de O
a Ifgads iy i arggae iy wart
b. WIHAF fr i. Affes fiu gg
c. JIuafhysEsa il 99096 fHy
d. HEHTS iv. UGHHTS iy dierar

[Question ID = 907][Question Description = 102_24_Punjabi_0CT22_Q02]

1. a-il

[Option ID = 3625]
2. B-iv

[Option ID = 3626]
ER

[Option ID = 3627]
4. d-i

[Option ID = 3628]

3) Fo= HOW woHd afe-miifim & ey B 79 3 yaE w3 yEiss o
Guzeg 3

[Question ID = 908][Question Description = 103_24_Punjabi_0CT22_Q03]

1. grAEAzZg

[Option ID = 3629]
2. O&) RIS

[Option ID = 3630]
3. SiFtwHEg

[Option ID = 3631]
4. wEgg TAST

[Option ID = 3632]
4) figrd 97 < Hegd oo foyps T Ada 3

[Question ID = 909][Question Description = 104_24_Punjabi_0CT22_Q04]



1. AoRrwemeEr
[Option ID = 3633]
2. fevar wEmE

[Option ID = 3634]
3. gwH

[Option ID = 3635]
4wl

[Option ID = 3636]

5) foafenafs fAT'S (Theory of impersonality) WEH'E Seg™ HEAMS & YT ol
Tl AEAME 3 gaa UgE 9

[Question ID = 910][Question Description = 105_24_Punjabi_0CT22_Q05]
1. Jwgas

[Option ID = 3637]

2. fifds g8

[Option ID = 3638]
3. & WH giEve

[Option ID = 3639]
4. Fgofa

[Option ID = 3640]

6) ‘7 gord Al flid 7 97 A w2, i< F50 o a1g 7 913 == <f gl fg J7
[Question ID = 911][Question Description = 106_24_Punjabi_0CT22_Q06]
1. Jgvod o=

[Option ID = 3641]
2. e

[Option ID = 3642]
3. J1g avs B

[Option ID = 3643]
4. 397 (3890

[Option ID = 3644]

7) FH gaeH T ulad =79 oo RgAg oo Agdl g 576d £ & AT for 9l 575
g

[Question ID = 912][Question Description = 107_24_Punjabi_0CT22_Q07]
1. Sy &s

[Option ID = 3645]
2. yEed &H

[Option ID = 3646]
3. goue EH

[Option ID = 3647]
4 Fag ey

[Option ID = 3648]

8) g € HAlBH Helee &'8 HEIY3 oA Zant UASH e UrEl vgee d7

[Question ID = 913][Question Description = 108_24_Punjabi_0CT22_Q08]
1. fAgd G wighr



[Option ID = 3649]
2. JO3 WS Elac)

[Option ID = 3650]
3. WazE3d

[Option ID = 3651]
4. g=ioe OWisas

[Option ID = 3652]

9) et Hal arfe feg araiv < oue” ad6 T8 Hal 9 T Adl ge 9-

[Question ID = 914][Question Description = 109_24_Punjabi_0CT22_Q09]

[Option ID = 3653]
2. Py Edie 7 Hae, W@l ded, g%H gdie

[Option ID = 3654]
3. §BFS ¥g, H'd A9E 5T89, ' HIT, =Hie

[Option ID = 3655] .
4. ¥d ¥TE, ' Ao HO84, A8T6 ¥, IHie

[Option ID = 3656]

10) Fe 2 figmst st = it 3.

[Question ID = 915][Question Description = 110_24_Punjabi_0CT22_Q10]
1. e gHde fgRaTH

[Option ID = 3657]
2. gHT3 Ynrge W SaHl

[Option ID = 3658]
3. wE g faATe AT

[Option ID = 3659]
4.y wEES Tide fHs ae

[Option ID = 3660]

11) o8 2Hte @ HAswd §. fosd fee @ fem udr g dH)
Ga 3 A =faes fou do &, odl Use 93 © of o IHI
SuTes e AT o0 Hal =) o 96 7
[Question ID = 916][Question Description = 111_24_Punjabi_0CT22_Q11]
1. H‘Uﬂﬁﬁ
[Option ID = 3661]
2. g’}%]_:pa
[Option ID = 3662]
A GG

[Option ID = 3663]
4. JI&H 2ae

[Option ID = 3664]



12) gt feg He oy 2 67 e o
a. 5 37 G 5 a3 wif foor fom formem 9 S w2 vl s o i
Ay 3o S Ial
b. ¥l Yerd © §9 6 g% W8 Jet v yF= Uygs . 68 ot 55 90 SEa ans &
9 996 B Je f2g wWEe 4
c. I fFAH feg oA 2 were € We9Ed 990G B9 3 996 § ANTHE 293
fegdm Sz famr 3 |
O3 =ad=g (oA feo=n & a3 &
[Question ID = 917][Question Description = 112_24_Punjabi_0CT22_Q12]
1. wgds iy
[Option ID = 3665]
2. fams Ay

[Option ID = 3666]
3. wizg fHy

[Option ID = 3667]
4. HaHS iy
[Option ID = 3668]
13) i =8 yares, 9= 7Y dF9e
Sige3 AT © a9 o
[Question ID = 918][Question Description = 113_24_Punjabi_0CT22_Q13]

1. &g 7a

[Option ID = 3669]
2. 7g HdHe

[Option ID = 3670]
3. Hew

[Option ID = 3671]
4. mEHT

[Option ID = 3672]

14) =g 74 49 ygsrel =i feg Zod fon o9 dei 3
[Question ID = 919][Question Description = 114_24_Punjabi_0CT22_Q14]
(R ¥ =i Y

[Option ID = 3673]
2. woyHA diay 2 599

[Option ID = 3674]

3. gwFEn e ust sEt

[Option ID = 3675]
4. goAT MoEd ©f od =0 3931 9= 3 fiead oda 9dd

[Option ID = 3676]



15) HaeH Aded Idl Ry fo3 o<t 9 fewrs & 9o g3 g9 feg 99

[Question ID = 920][Question Description = 115_24_Punjabi_0CT22_Q15]
1. g3 w3 o=dwr

[Option ID = 3677]
2. IggrwE gHEs

[Option ID = 3678]
3. AR w3 SIEmT

[Option ID = 3679]
4. A=W w3 Hdo'

[Option ID = 3680]

16) Iz fafiynr i3 faoa ge Aar 32
[Question ID = 921][Question Description = 116_24_Punjabi_0CT22_Q16]
1. ygrSs FoHAY 03 7Y S8 GaHAE

[Option ID = 3681]

[Option ID = 3682]
3. It 5 TE AeHAH - 93oes

[Option ID = 3683]
4. ot Het Ay 278! 95HAH---283 o8 doHAHT

[Option ID = 3684]

17) Iz fafipwr 57 ofazanr aue ot o

[Question ID = 922][Question Description = 117_24_Punjabi_0CT22_Q17]
1. g yfag= iy

[Option ID = 3685]
2. ot 93& A

[Option ID = 3686]
3. grof=fonwr fAy

[Option ID = 3687]
4. g gEr THY

[Option ID = 3688]

18) ToHAHM Hl I1g &ad o< Al © Iaiad Jimis YASH @ 5937 9 97

[Question ID = 923][Question Description = 118_24_Punjabi_0CT22_Q18]
1. Heris iy

[Option ID = 3689]
2. gEeg fity

[Option ID = 3690]
3. T3 Ty

[Option ID = 3691]
4. gidggs fHY

[Option ID = 3692]

19) =F Eegs 3w 38! fored 3, o o9 fan yaft feess o &

[Question ID = 924][Question Description = 119_24_Punjabi_0CT22_Q19]
1. gdgde 98



[Option ID = 3693]
L fiAsfgz3as

[Option ID = 3694]
3. Adles GEHS

[Option ID = 3695]

4. vEd B
[Option ID = 3696]
20)  ~Haw TIS AE EA TS O FER O 9 & MR AT e e s e 9, 69

I S5 eSSt W HiEe feagog 9y e T‘Eaﬁﬁaafe?mﬁﬁ?sqﬁfﬁa
975 FmE 2 v yiear & qum 34 3rr

o o= fan Tgga-dzg v 3

[Question ID = 925][Question Description = 120_24_Punjabi_0CT22_Q20]
1. wAfZeg fiy

[Option ID = 3697]
2. wideg fiwysug

[Option ID = 3698]
3wl fHy g

[Option ID = 3699]
4. g9 HY

[Option ID = 3700]

21) A wit w3 3H (UA © g T T e felamrsd withils) urse = 848 -

[Question ID = 926][Question Description = 121_24_Punjabi_0CT22_Q21]
1. gfifeg iy yiagr

[Option ID = 3701]
2. Afi=g fRwaad

[Option ID = 3702]
3. gHuEt

[Option ID = 3703]
4. gAfdaa fAw A=

[Option ID = 3704]

22) 'HIW SH =y <o 528, FOT (BAE & WS | Fi=-39 © wEdd o UE'E 59
[Question ID = 927][Question Description = 122_24_Punjabi_0CT22_Q22]
1. fere3

[Option ID = 3705]
2. wifsgEst

[Option ID = 3706]
3. GHT

[Option ID = 3707]
4. WEUH

[Option ID = 3708]
23) g S Al de 3

[Question ID = 928][Question Description = 123_24_Punjabi_0CT22_Q23]



1. HIHIZ3 U3d - WiTeE S - Jided a=i
[Option ID = 3709]

2. nfTfed FHE - B3 ST - AREG (HY rag=ane
[Option ID = 3710]

3. mrslg fHy wagzshr - gf<ed gt - vfos e
[Option ID = 3711]

4. wETEs Yo - HREY [y Wasegmr - FHi3 Usd

[Option ID = 3712]

24) e e e sfesT Ags i Je yerdtest arferer v adt
gFe/F3Ee Fiesr T AaH Yades! Wisd gios 3 BEas iEse W fm 2 v
7E filg Iftwr gafE fog 56 uaw Uarg @ gu8c Wiasd wWiod word 8Ag &g
HEH AHAR-EETHR- 5T 7Y © Jf JEIHE gU3SE 396 g T wimt S fegm
w3 HEY o

SigaT 990 97 Haara=<l Aid3 fdag = o
[Question ID = 929][Question Description = 124_24_Punjabi_0CT22_Q24]
1. fars i

[Option ID = 3713]
2. & wg. faae
[Option ID = 3714]
3. Az fHwaAg
[Option ID = 3715]
4. geeg fiw gt

[Option ID = 3716]

25) ‘pEs w3 B9 iz fa3E T B By
[Question ID = 930][Question Description = 125_24_Punjabi_0CT22_Q25]
. Aed g9

[Option ID = 3717]
2. Ieg=

[Option ID = 3718]
3. nigfes HET

[Option ID = 3719]

4. Iz TER

[Option ID = 3720]

26) fegr wAzdl g=e 3 wep og Sl de-gar € gy feu weas © o398 o' Hefb3
HERE T8 I J| S8UE Tl 9ue JE SJ8 A8 © 9d 3HH gu <491 5726 <
fom arEufses 2AZ 3 US TASES gEiee O 2997 999 GEOY 9 © A FE
2% 3 fuge 3, rlag @ fan & gu 3 o fise

a3 9598 o

[Question ID = 931][Question Description = 126_24_Punjabi_0CT22_Q26]
1. Aidea gHd o2n=d

[Option ID = 3721]

2. & w3 ke



[Option ID = 3722]
3. Hfares ffwadr
[Option !D = 3723]
4. Ay Ay yaT

[Option ID = 3724]

27) yA3y = va g2 < goe o A feasu 3

[Question ID = 932][Question Description = 127_24_Punjabi_0CT22_Q27]
1. SgTet, gH Ya'H, {26 Bse

[Option ID = 3725]

2. F=s®, HaHdo, WHios Ha-o=e

[Option ID = 3726]

3. Forsl, gafowrs fRy, fardl maafag o=

[Option ID = 3727]
4. FES gyHd 9, oS a-HoeeT

[Option ID = 3728]

28) wurdlard gusa U § fan wdus & AY O St udusr v Tan faar ae
[Question ID = 933][Question Description = 128_24_Punjabi_0CT22_Q28]
1. gfieg g

[Option ID = 3729]
2. gng fiyaAd

[Option ID = 3730]
3. Az fiw Ay

[Option ID = 3731]
4. Hans i 3d

[Option ID = 3732]

29) geuH Ay Riges @ o'=s Tovas’ @A wialls 88! & YFiious sew J;
[Question ID = 934][Question Description = 129_24_Punjabi_0CT22_Q29]
1. fies

[Option ID = 3733]
2.y

[Option ID = 3734]
3. marfest

[Option ID = 3735]
4.

[Option ID = 3736]

30) #F=F ooa T TAE Agd o UH HOWH o
[Question ID = 935][Question Description = 130_24_Punjabi_0CT22_Q30]
- g

[Option ID = 3737]
2. fomigr

[Option ID = 3738]

3. HEETA

[Option ID = 3739]



4. Eﬂg}aﬁ'

[Option ID = 3740]

31) gt Arfas-fgs »3 393 Ff-FA3g (WigeIHs fe2gs) URSs T aug

[Question ID = 936][Question Description = 131_24_Punjabi_0CT22_Q31]
1. JHG BB WgH

[Option ID = 3741]
2. Igud iy 5=
[Option ID = 3742]
3. marEla THu
[Option ID = 3743]
4. gz5 i Han

[Option ID = 3744]

32) afgsws iy & Wt ure foze fem fam oes S ugz R A3 3.

[Question ID = 937][Question Description = 132_24_Punjabi_0CT22_Q32]
1. FHI Bag

[Option ID = 3745]
2. H3dd0

[Option ID = 3746]
3. glaw etz

[Option ID = 3747]
4. FEoH

[Option ID = 3748]

33) FEm Fd T WY UTH aaaed © (38 yHy uzre w3 {56 Uighr © oy
wresard ©f e 30" € §S Adad (30 O9'3% o's ud I8 Ual

o fefimr o foaoa uo=s 7t odil 397
[Question ID = 938][Question Description = 133_24_Punjabi_0CT22_Q33]
1. g f=gg

[Option ID = 3749]

2. ystefymrfss fasas

[Option ID = 3750]
3. gwHl 93

[Option ID = 3751]
4. danig 935 w3 Wgrgg A

[Option ID = 3752]

34) wimlg ey T &ex IO T UE T U3d oOhG [aH 39 o 58] BB o
[Question ID = 939][Question Description = 134_24_Punjabi_0CT22_Q34]
1. HO e

[Option ID = 3753]
2. 33E-wBTd
[Option ID = 3754]

3. foaordt 9gt vvret

[Option ID = 3755]
4 WUETH 9B HE=ZO



[Option ID = 3756]

35) goEEd Ay 29 WaAd Uarel Aiewarg = giewe! oed o -

[Question ID = 940][Question Description = 135_24_Punjabi_0CT22_Q35]
1.

[Option ID = 3757]
2. Atz T HI=S

[Option ID = 3758]

3. Hored

[Option ID = 3759]
4. TafHEgT

[Option ID = 3760]

36) el werE A fHOT SEs Al 9
[Question ID = 941][Question Des_cription = 136_24_Punjabi_0CT22_Q36]
1. fog wyE gue W T [T 293 HY 95 |

[Option ID = 3761]
2. iy wigms widdt wigE fog =93 v T8

[Option ID = 3762]
3. g wire widdl W3 U 9T WaH 59 =93 #e 35|

[Option ID = 3763]
4. Tag' wrE G YSuTol e S i E F )

[Option ID = 3764]

37) St wrer gt = A"g &
[Question ID = 942][Question Description = 137_24_Punjabi_0CT22_Q37]
1. ToHaS

[Option ID = 3765]
2. sRug S ud=a &8

[Option ID = 3766]

3. feng s

[Option ID = 3767]
4. ¥Ims

[Option ID = 3768]

38) 4@ Zaait -
[Question ID = 943][Question Description = 138_24_Punjabi_0CT22_Q38]
1. o el

[Option ID = 3769]

2. B qIE

[Option ID = 3770]
3. BgHg

[Option ID = 3771]
4 B ET

[Option ID = 3772]

39) ‘Folk Art of the Punjab’ o3 @ 3yg .

[Question ID = 944][Question Description = 139_24_Punjabi_0CT22_Q39]



1. gobs fiy fie
[Option ID = 3773]
2. ggdts fiy fois
[Option ID = 3774]
3. fdeT iy da=r
[Option ID = 3775]
4. d=grits frhr =ar

[Option ID = 3776]

40) “Linguistic Follies of the Subcontinent’ f83™H T S4F &

[Question ID = 945][Question Description = 140_24_Punjabi_0CT22_Q40]
1. i . HAE

[Option ID = 3777]
2. H&gd BEH

[Option ID = 3778]
3. ez =TG8

[Option ID = 3779]

4. fra3w ons 29

[Option ID = 3780]

41) wrgel gah (Archiphoneme) B AFSY UH 3

[Question ID = 946][Question Description = 141_24_Punjabi_0CT22_Q41]
1. gH® SagAs

[Option ID = 3781]
2. AfAGa

[Option ID = 3782]
3. oHrAsl

[Option ID = 3783]
4. FgE3d=rE

[Option ID = 3784]

42) fewrads 2 390E Wag g Fa
[Question ID = 947][Question Description = 142_24_Punjabi_0CT22_Q42]
1. fewagles foerd
[Option ID = 3785]
2. fowaafas el
[Option ID = 3786]
3. mEEHE

[Option ID = 3787]
4. Fd faargr

[Option ID = 3788]

43) R I W, TE 9 AT 3
[Question ID = 948][Question Description = 143_24_Punjabi_0CT22_Q43]
1.y fRfanr

[Option ID = 3789]
2. Feriag fafgnr



[Option ID = 3790]
3. Ardgdt fHfawr

[Option ID = 3791]

4. FAoag fafanr

[Option ID = 3792]

44) IIHIS WETH § GRS HalHasT € Arsadl YSifafowr v gusaw 5 wied
& faa 3
[Question ID = 949][Question Description = 144_24_Punjabi_0CT22_Q44]
1. TotE Hed ST
[Option ID = 3793]
2. Fgoe THy &t
[Option ID = 3794]
3. mE Biore=t
[Option ID = 3795]
4. FErmuEt

[Option ID = 3796]

45) yigAzal 49 9AE 9 593 A8 yFTHS 9= wrag I
[Question ID = 950][Question Description = 145_24_Punjabi_0CT22_Q45]
1. 1976 &8

[Option ID = 3797]
2. 1a7g feg

[Option ID = 3798]
3. 1980 =g

[Option ID = 3799]
4. 1982 f=g

[Option ID = 3800]

46) NI A A I fF37E © BuE w3 wETEe T Al He O

a. T HaIt i. Har 5T difes

b. THE WISt il i iy

c. BT FES iii. Bide fify T
d. H 58 5% iv. JigeHH Hy 259

[Question ID = 951][Question Description = 146_24_Punjabi_0CT22_Q46]
1. a-iii
[Option ID = 3801]
2. e
[Option ID = 3802]
3. g-iv
[Option ID = 3803]
4. d-n

[Option ID = 3804]

47) wfg WH B (LSA) ACEB Aie I 9= &

[Question ID = 952][Question Description = 147_24_Punjabi_0CT22_Q47]
1. Linguistic Society of America



[Option ID = 3805]
2. Linguist's Society of America

[Option ID = 3806]
3. Linguistics Society of America

[Option ID = 3807]
4. Language Shest Association

[Option ID = 3808]

48) Tz Tafimr o foa3 =9 At 95
&, HEEg Ue 7z = ffsarerd w dewy & fioe AHaST /T AdEl ygearst
A3 figve ©f fEage mjusr 3 f8yeg @ wiggus dedl UmEms 2 Y8 337 &
foara-A= Mg 93 warfas )
b. AFEZ WAl ATfaz o fefaorrerdt & dasus Uarsr 3, Uerel g2 wia dagvg
= w3 ydiasH 3 8 9 a<iaad Agy ©f feaarg fefzare ferdiae 3 uaye 3 y=radt
&8 FEHI 9
c. HuaF el Arfaz & fefzamerst 3 9= dardl Afas fheve & mers fom S
50 o= fod faR § e vz fan § glewge Ji
d. Auaz Uadl miaz & fofzorad o g0 dodl 97 ke @ wId Alas = Ay
oz fBuE o 3|
Az I Al feamu 2

[Question ID = 953][Question Description = 148_24_Punjabi_0CT22_Q48]

1. & b, £

[Option ID = 3809]
2. g, €, d

[Option ID = 3810]
3. a b, d

[Option ID = 3811]
4. b [+ d

[Option ID = 3812]

49) 39 WaAd UE39-293 2 QusT © e Adl feasu 3

a. 9% =937
b. FTEEE%E"’
c. Ta =9I
45T T
#A7 3 Al feamu gE -
[Question ID = 954][Question Description = 149_24_Punjabi_0CT22_Q49]
1. & c. d
[Option ID = 3813]
2. b, e d

[Option ID = 3814]
3. g b, C

[Option ID = 3815]
4. g b, d

[Option ID = 3816]



50)

Ffe wasgeIHE g5 a2 g Er e Ha 30
al@e
b &=
ca_d’"f:EB
d. WaAg
F3 3 A fegmu g2

[Question ID = 955][Question Description = 150_24_Punjabi_0CT22_Q50]

1. 4

w3 d

[Option ID = 3817]
2y w3 ¢

[Option ID = 3818]
3. ¢ w3 d

[Option ID = 3819]

4. 5

L=

[Option ID = 3820]

51)

e 2 e At e w9
a v fofgan worfas fan GO yrar & rnes = 9us 3
b FIEH Fart &= gu I w3 A 2 98w 396 =8 wWiie3d HAEHS 99 96|
c HIEH gHE 53 B2 oo B g F
d. FiareH 2 o feg waw fere, Aios Aedl, gadies 3 fog weas Wit g
I Hgdt 1
73 3 Al fegmu gE

[Question ID = 956][Question Description = 151_24_Punjabi_0CT22_Q51]

1. &

b, c

[Option ID = 3821]

2. p,

c. d

[Option ID = 3822]

3. &

b. d

[Option ID = 3823]

4. a;

[+ d

[Option ID = 3824]

52)

I iy wara 18 79 2 IB-ug 2 [Frarfe Sh faodiv-2 597
ZadinT TAS I

adiagy

b. GHE goH

c AAUS

d fiaer FfaEr

A3 J mai fesmy g

[Question ID = 957][Question Description = 152_24_Punjabi_0CT22_Q52]

1. b

c, d

[Option ID = 3825]

2. a,

b, c

[Option ID = 3826]



3. g d. €

[Option ID = 3827]
4. @ b. d

[Option ID = 3828]

53) Yy & @ Wad-g3d 75
a T

b. fegEnyr

c. TeAaS

d F-da=
e 3 me fegmu gn -

[Question ID = 958][Question Description = 153_24_Punjabi_0CT22_Q53]
LR c. d

[Option ID = 3829]
2. g b. d

[Option ID = 3830]
3. a, b, c

[Option ID = 3831]
4. a, c. d

[Option ID = 3832]
54) WIIHHIZ ©f Fe-ggare o Hdl 2991 o;
a. SEIASE, HIT Ha J
b. fgdera, Har mieg
c. fagevg, uns”
d. USE, FHBUI i e
A3 3 Al feamu gE:

[Question ID = 959][Question Description = 154_24_Punjabi_0CT22_Q54]
1. a w3 d

[Option ID = 3833]
2. v w3 e

[Option ID = 3834]
3. e w3 d

[Option ID = 3835]
4. g v b

[Option ID = 3836]



55) A3 fifw A 2 mrear T At ge &
a. G - THEI!
b. T9H - & el
c. I UgA--A5" Hast
d. &rgel - fAnra’ <f Gt
7= 3 Al feamu 3

[Question ID = 960][Question Description = 155_24_Punjabi_0CT22_Q55]
. a3 b

[Option ID = 3837]
2. an3F d

[Option ID = 3838]
3. w3 d

[Option ID = 3839]
4. a3 e

[Option ID = 3840]
56) &'ad i v 48 qu-fems T8 Ffegu 39 -
a Slas
b2
c NMEgE
dE

HS 3 Adl fegBu o

[Question ID = 961][Question Description = 156_24_Punjabi_0CT22_Q56]
1. a, b, =

[Option ID = 3841]
2. 2 d

[Option ID = 3842]
3. a, b, d

[Option ID = 3843]
4. & c. d

[Option ID = 3844]
57) et f=g 7 = fearw dfer 3-
a. =3’ 2 BUd HE FF6
b. FlH HIYE & & 8U J 71E 96
e YEI I WAT 2 BU T AE T35
d. B9 U3 /708 © BU J 7E 990

[Question ID = 962][Question Description = 157_24_Punjabi_0CT22_Q57]
T..a w3 b



[Option ID = 3845]
2.3 M3 ¢

[Option ID = 3846]
304 M3 ¢

[Option ID = 3847]
4. b ™I d

[Option ID = 3848]
58) o3 o9 At a5
a files s s FraT e S poE a8 i 3
b. 97 aan feg fiegd e Avael < Yifeas Aodrae det 3
¢ Hec HF* & U6 oo o0 pes © 20 &57 3

d. flegde i ga-gan e da {3

A3 3 Al fzamu gt -
[Question ID = 963][Question Description = 158_24_Punjabi_0CT22_Q58]
1. b, & d

[Option ID = 3849]
2. g, c, d

[Option ID = 3850]
3. & b, d

[Option ID = 3851]
4. a, b. =

[Option ID = 3852]

59) a3 g9 At 96
a WHETST FEBEET UEH B S AdETe ATOS o Arfagesr 3

b. wHdlel aEdga’ YEEl & Friass us' @ fese witils 3 dg i3

chHETE sEBus YysE Fiuge 9o & S9e/ued 3 29 59 3 29 J)

d. el BEdYe YErsl Aias € giadar witmls 3 99 51 )
A3 3 At femmu &

[Question ID = 964][Question Description = 159_24_Punjabi_0CT22_Q59]
1. a, b, £
[Option ID = 3853]
2. b, c; d
[Option ID = 3854]
3. a, G: d

[Option ID = 3855]
4. a, b, d

[Option ID = 3856]



60) Fgr de adt &
a. AfSea i —wofss e afe: gu witpils
b o LEH T --HIs fiw & arfe 3
c. HIa iy Sierer -y UArst a=t
d AFES iy ga --yas iy afe witmls
A5 3 Al feasu 3,

[Question ID = 965][Question Description = 160_24_Punjabi_0CT22_Q60]
. awg d

[Option ID = 3857]
2. 4 w3c

[Option ID = 3858]
3. aw3db

[Option ID = 3859]
4. gw3 d

[Option ID = 3860]
61) meaEad WS FE-WSTs YAST @ Adl OE o

a. Ag43 THy 7Ad--fhan=sia sca-f6avms

b. O=E OHETS--&cE, Aod 3 odnd

d. A3 gD SgH--&Foaad o8 A

Az I Adl feasu &
[Question ID = 966][Question Description = 161_24_Punjabi_0CT22_Q61]
1. a; c, d

[Option ID = 3861]
2. g, b, c

[Option ID = 3862]
3. b c, d

[Option ID = 3863]
4. a. b, d

[Option ID = 3864]

62) Iz fa Frfe-gar &0 fagd Fevriz U3 2w a5 -
a. ufast 5ot 2As i’ =t 62 oot
2w e U 2511
b AE Tl T <F 9 d= A=g A
Hod © 935 9 I8 =31 od Al
Wi fHag foee & Hagd! 5781
d. U3, g, I, g5 i o,
HE 55 Wit fog A famr, fiae’ & A

A= 3 Adt feamu 3



[Question ID = 967][Question Description = 162_24_Punjabi_0CT22_Q62]
1. & b, c

[Option ID = 3865]
2. b, €, d

[Option ID = 3866]
3. a, b, d

[Option ID = 3867]
4. g, c d

[Option ID = 3868]

63) HAagn=l Mdgn UES! Aed! S 566 Fl 90:
a.fEg Wy yedl wigs § o=y 2 gu feu 2=t 31
b.for € 45 Jaa~-H3 felgans 3 f=lomrs 31
c.fog wigs witia § fefamred Sig’ 93 B7de © U3a dad Ji
d.foR T YUrs Ald3e 9Ua'e © AsAE &8 3, fewrfior 75 &l |
A3 3 Adl feamu 2

[Question ID = 968][Question Description = 163_24_Punjabi_0CT22_Q63]

1. g, a; d

[Option ID = 3869]
2. b, c. d

[Option ID = 3870]
3. a b, c

[Option ID = 3871]
4. g, b, d

[Option ID = 3872]

64) Aeds UEn © 598 © Adl g9
a. B fon3, s wd
b. Teal<g, HE Hd famp
c. HIIH, Fed HHI
d. T UFEA €. 27 Ug8
As 3 At fesmu 3:

[Question ID = 969][Question Description = 164_24_Punjabi_0CT22_Q64]
1. a3 ¢

[Option ID = 3873]
2. h w3 d

[Option ID = 3874]
3. b W3 ¢

[Option ID = 3875]
4. an3F d

[Option ID = 3876]



65) g 9fe T faas 989 =99 At 95
a g ghe © AEd =gl [AEAS o foig 7HT giossr< &% S e )
b HEHT! BEl J€ © gege 7d gAo WUE Jide giusl 3 F581-a90! 28 HeHT
Hes-1o o Us 837 oag wige 3
. HT gHo URE Afgwrgre & 2af2w § wiushy IHgE 9He 2 yarer 86 foe Ades
Wi S sgge 3)
& T GRS & L5 SETHE I feg v sErH & i
Az 3 Adl f=gsu o

[Question ID = 970][Question Description = 165_24_Punjabi_0CT22_Q65]
1. a i3 b

[Option ID = 3877]
2. pwFec

[Option ID = 3878]
3. ewZd

[Option ID = 3879]
4. anF ¢

[Option ID = 3880]
66) 31g 9j5 7l feu van =ie gur g 93 590 =493 Adl 95

5 31 568 W3 Ig WHITH BT 903 wEgE R AT T HYE I I U a8 Of
HEH & H3 © 3 3 Hag 596 ©f oA < [eacidod gal

b FTHI5 e few fenra © gUE & Wit SHE Was Ue's Safew Algg € S gud
uElas &9 B3 e 91
c.d1g 9[8 wiuy fee fos dadl 3 B 9 26 Us3h 99 78 e 96)
d.91g 99 Fios fog 23 8 e gU &8 7re § 9 WHis vHeUEM 3 UigsT Asfes
a3 famr 3
Hz I Al feasy 3

[Question ID = 971][Question Description = 166_24_Punjabi_0CT22_Q66]

1. b, P d

[Option ID = 3881]
2. g, € d

[Option ID = 3882]
3. a b, c

[Option ID = 3883]
4 a, b, d

[Option ID = 3884]



67)

Hol-l
a. fimigr AW ueH
b. HEmEE fHu
c a6 HY

d. JEEd (A=A

Sudas = Bl (HEs 9.

iv. HOa &) Aee-AlEwTd

[Question ID = 972][Question Description = 167_24_Punjabi_0CT22_Q67]

1. a-m

b-iv  c-u d-i

[Option ID = 3885]

2. g

b-i c-iv  d-iil

[Option ID = 3886]

3. -

b-iv  c-i d-ii

[Option ID = 3887]
4. a- i

b-ii c-iv  d-l

[Option ID = 3888]

68)

-1

. e iy
. E=g fogar

E:

d.

gz T Al THES O

Hal-ll
i Bl 8 fafzaas, i3, A ufay
ii. ZIE THG
iii. fersndt fd3s w3 Uearsl 7l ==
iv. Balew

[Question ID = 973][Question Description = 168_24_Punjabi_0CT22_Q68]

1. g-i

b=

[Option ID = 3889]

2. a-ii

b-i

[Option ID = 3890]

3. a-i

b-iv

[Option ID = 3891]

4. a—i

b-ti

[Option ID = 3892]

69)

1. -

a.

b

Holl- |
HAU® &g

c. wHInI Y I
Sudag T Ad HEE 9

[Question ID = 974][Question Description = 169_24_Punjabi_0CT22_Q69]

d

b-iv ¢ d-ii

[Option ID = 3893]

2. a-i

b-il c-iv. d-iii

c-1

c-Iv

c-il

c-iv

d-iv

d-i

gl i
i Urrstt fof =i fog o3 uduar
i Unrl foirr ofe feg saaa gami
iii fSAT Aee

TRy R e



[Option ID = 3894]
3. a-ii b c-iv d-il

[Option ID = 3895]
4. a-ii b-iv  c d-iii

[Option ID = 3896]

70)  Hdll LR
a. ufadl fazg i. FagTg T gai
b. wud g TRHEET i EoEd Ay
c. WO EEE iii. FIHHS i
d ASdaIwEAT v BgHG (HY

Suygez T Aol figs

[Question ID = 975][Question Description = 170_24_Punjabi_0CT22_Q70]
1. @t bHil c-iv d-i

[Option ID = 3897]
2. a-iv  b-i c-ii d-iii

[Option ID = 3898]

3. b-iv oo d-ii

[Option ID = 3899]

4 akil beil cHv dH
[Option ID = 3900]
71)  HA- -1l
fasd fodTarg
a. dg @ gd i BB Y
b. RS FHE ii. B Ty e wast

c. Wg T img iil, U fHuy
d. =36 @ imrg iv. 39 THY
Buges = A fies 3

[Question ID = 976][Question Description = 171_24_Punjabi_0CT22_Q71]
1. @i bl c-iv d-iil
[Option ID = 3901]
2. -y b4 e dei
[Option ID = 3902]
3. a4 beiv ocei il
[Option ID = 3903]
4 aii beii cowv d-i

[Option ID = 3904]



72) T -l

a. O oo feg i. IS fAw erear
b. e AElErd ii. TIHUS fHas
¢ 23 ASH iii. 73 iy Hize
4. =935 3 a3 el iv. JITTE
SUdE3 T Al HES &

[Question ID = 977][Question Description = 172_24_Punjabi_0CT22_Q72]
1. a-i b-n c-v d-ii

[Option ID = 3905]
2. a-iv b c-ii d-iii

[Option ID = 3906]

3 & b e deii

[Option ID = 3907]
4. v bei cdil d-i

[Option ID = 3908]

73) e Hot-
a. Wiz izH L. A vieg fig mjea
b, HESE i 398 U3 98

c. CiTg AT i I3 g
d yEnfiwrdia B9 cg s

ez goi-| w3 7El-Il = Al IHES 3 -

[Question ID = 978][Question Description = 173_24_Punjabi_0CT22_Q73]
1. a-i b-iii  e-iv d-ii

[Option ID = 3909]
2. a-i b ocoivd-iii

[Option ID = 3910]
3. a-i  beiv ocei -l

[Option ID = 3911]
4. a-i b-iv  e-ii d-i

[Option ID = 3912]
74)  FEH Hol-1l
a. diggds Y i. T vaw a3
b. e g 5B iATES As G5
¢. AaHiS U3d il SSHT o il
d. Haw iy v P

Gudss Hal- w3 -1l T A HES d -

[Question ID = 979][Question Description = 174_24_Punjabi_0CT22_Q74]

1. a-i b-iii  e-tv  d-ii



[Option ID = 3913]

2. a-i beii ocH d-iv
[Option ID = 3914]

3. @i b-iv  c-ii d-iii
[Option ID = 3915]

4. a-wv b c-iti dH

[Option ID = 3916]

75) GELR Hoi-
a. AHTHAS 3 RS 65=8 i Oes oy
b. Al U YiegStr ii. Hidog gHd oed=d
c. IaeME iy S 528 95 iii. Hioeaurs fifu
d. e aey feg waleag Aees v, faEs Ay
uIes v A fHEs o -

[Question ID = 980][Question Description = 175_24_Punjabi_0CT22_Q75]
Tooadi beil v dei
[Option ID = 3917]
2. a-iv b coil d-iii
[Option ID = 3918]
3. a-i b-iv  c-ii d-iii
[Option ID = 3919]
4. -l bHi ocoiv del

[Option ID = 3920]

76)  FO-I GEin]
a. el I o fearA i = frw 7
b. U I o fafzan it O Uy Ty
c. e 8 v fafsaH il 26 5Y
d. o=t g7 = fugsg iv. fEfenr I7Hag wgs

[Question ID = 981][Question Description = 176_24_Punjabi_0CT22_Q76]
1. g+ b-n c-iv d-iil
[Option ID = 3921]
2. a-iv b c=ii d-iii
[Option ID = 3922]
3. @& beiv i d-ii
[Option ID = 3923]
4. @i b oc-iv dAi

[Option ID = 3924]

77) faFeT T AL fEEgRe e

[Question ID = 982][Question Description = 177_24_Punjabi_0CT22_Q77]

[Option ID = 3925]

2. fggm WEE-TedWd-[aAG THY Widg- IBEH Jaa=smT



[Option ID = 3926]

[Option ID = 3927]

[Option ID = 3928]

78) fHi3d He HiZ € I3 89 o=w v el 906" I8-aH -
a. Felaa
b. AT MT
c. FaIH
d. 92 AT

[Question ID = 983][Question Description = 178_24_Punjabi_0CT22_Q78]
. b c d a

[Option ID = 3929]
2. ¢ a d b

[Option ID = 3930]
3. b d a C

[Option ID = 3931]
4. a b c d

[Option ID = 3932]

79) e fewees 75 AU YRSE © A EE-g 32
a. UFs| SWoge
b. A Grammar of the Punjabi Language
c. e Urrdr fewreas
d. Us=l 370 & [ewege

[Question ID = 984][Question Description = 179_24_Punjabi_0CT22_Q79]
1. b; a, €. d

[Option ID = 3933]
2. g, d, b, G

[Option ID = 3934]
3. d, a, b, &

[Option ID = 3935]
4. ¢, d. a. b

[Option ID = 3936]
80) 9IS HElaT © Adl 5-gH o
a. 9913 SHE
b. 13 =g
c. 5913 HeE

43413 5THEE

[Question ID = 985][Question Description = 180_24_Punjabi_0CT22_Q80]
1. a o b, d

[Option ID = 3937]
2. ¢, d, b, a



[Option ID = 3938]
3. b, a d, c

[Option ID = 3939]
4. d. b €, a

[Option ID = 3940]

81) gade iy 21 S uaTH A3 B9 O fae e Adl e 32
5. UFTH 3 ug= A Ul 7ias @ vAd
b. UFHI FE & ufaiy
c. UFEH Ueredl /a3 @ HAS
d. Bagee UnTH TI8U: sHS=e! Ulguy

[Question ID = 986][Question Description = 181_24_Punjabi_0CT22_Q81]
1. b, a €; d

[Option ID = 3941]
2. a ¢ b, d

[Option ID = 3942]
3.d, b, a, €

[Option ID = 3943]
4. d e b. a

[Option ID = 3944]
82) AUHN ATfgs € UR b e et e a7
a. AGH 43
b. OaH Ha
c Ad HF
d gadH3

o fomra gz

[Question ID = 987][Question Description = 182_24_Punjabi_0CT22_Q82]
1. a, b, c, d, a

[Option ID = 3945]
2. b, e, a, d, €

[Option ID = 3946]
3.4 a, c. b, a

[Option ID = 3947]
4. b, d, 8 B e

[Option ID = 3948]
83) ToeTeds Re e U e R g J 2
a FUEH
b HE
c. AHOS

d. HJ3H



[Question ID = 988][Question Description = 183_24_Punjabi_0CT22_Q83]
1. ¢ b, 5 d

[Option ID = 3949]
2. a b o d

[Option ID = 3950]
3. a d b. c

[Option ID = 3951]
4. b, a, (=3 d

[Option ID = 3952]

84) TuG A- FIH! fo0 HAGE 2 € gU YIiS3 95- e 3 senit| el
arfe §3 29r HAsE T yFe foard
TIG R Tepitol AT Ut & i afE-gu g ol w3 ' e T ife-gu 5E
famrri

[Question ID = 989][Question Description = 184_24_Punjabi_0CT22_Q84]
1. ARSIt Iw3RIBI T

[Option ID = 3953]
2. AgEIIWIRAG S

[Option ID = 3954]
3. AnZREE Adi s

[Option ID = 3955]
4. ANIZRIZTEI T6

[Option ID = 3956]

85) HEE A: Td ©f gUs IHATS w3 e Lo dt e 3 Sm ad 3 feg 2 s
wIgdm R ms I Snarfer Jifer S fex Bxwfe guas 8 & fan
&% Al 3
96 R: A9 3 20 oy fegy fegrfa €3 &t J2 29| og <t B8 o g8 fom
wEt 79 & fon wite 9 ye 3 38 =i 62 ad1) =e & fufzon, fHsas w3
g Tl § wiuE wieg 7 B
[Question ID = 990][Question Description = 185_24_Punjabi_0CT22_Q85]
1. AFddw3 Ra®I 9

[Option ID = 3957]
2. AT IWI RAS I

[Option ID = 3958]
3. angREE w95

[Option ID = 3959]
4. AWI R T= IB3 da

[Option ID = 3960]

86) oEHA A UT3S Udsr =adw fosan 4, fun 29 el & fovnus S5-mdaar
LT
90 R: f=0 o oA 3 Yo36 Hoadls Uidl 939 Ig 064, B9 99
wiaas, Jg-2dhe W3 g Blad 58 gamf How mEAmET 3 85 2
THIEC TIF T 2 W E-EWS wHE 91

[Question ID = 991][Question Description = 186_24_Punjabi_0CT22_Q86]
1. ARl S w3 R I%3F I



[Option ID = 3961]
2. ATES D w3 R A F

[Option ID = 3962]
3. AWZ R Y% Al I6|

[Option ID = 3963]
4. AwZ R T 6T I35

[Option ID = 3964]

87) IHG A: GIAGTE ai=d" IF0id U YHaE= Al 79 UF yaistersl J. ud fon e
&= HEgE ©f Mggdl © fbed 3AeE © Y9 3 Jf 9 eurgs @ w3a i3 9|
a6 R: fa8fs fog afesr ygre-unma 2 wrofsa da-feos @ fom-A39 dardt 3=
UgggE Tgel A

ez f<d AUl 3 -

[Question ID = 992][Question Description = 187_24_Punjabi_0CT22_Q87]
1. A3 R T2 A I5|

[Option ID = 3965]
2. A TR WS RABI I

[Option ID = 3966]
3. AWS R OGS T6|

[Option ID = 3967]
4. anifHe AT T W3 R T153 91

[Option ID = 3968]

88) TEG A: 38T &'CH NE WUE FE =Ag fan A=ds Mt At fonn sod B
IITES IO Wew @9 geer 91

Fae R [0 599 &9F ores AW s 3 WE SAg9S HIS a8 ol st
SuaT AN foR = yarar 98 Jor J. 99 d U 3 egne § AHH, IHH 983 8d
EERICGE

[Question ID = 993][Question Description = 188_24_Punjabi_0CT22_Q88]
1. Ag@3 a3 R A I

[Option ID = 3969]
2. A At d w3 R oA A

[Option ID = 3970]
3. AR M3 RAES T

[Option ID = 3971]
4. AnZ R T Adl 95|

[Option ID = 3972]
89) dUo' < aHEn i3 8 In) i i (A) I wiF B o9 (R) J1
G A - 57 AEIM (K9 THE fdg we wuged JE 3 Ag=y 4 J0)
T35 R: 1F for = v3we oo o iX Iars fide vy gud & g
[Question ID = 994][Question Description = 189_24_Punjabi_0CT22_Q89]

. A IUI RIBI T

[Option ID = 3973]
2. AwWZR T AOT I

[Option ID = 3974]



3. AWZROS Al g5 U A T EIGR Bt o

[Option ID = 3975]

4. R AT UT A IHT T

[Option ID = 3976]

90) FHS A- GUFHET U3 9y @ TaEr & 39 g J6., My GUT ST © 996

95 == U d 7= d6l
96 R: ug fBr © 13wy foo ot fa Qusme, o &9 O Jeh 96

[Question ID = 995][Question Description = 190_24_Punjabi_0CT22_Q90]

1.

ARSI RIBI I

[Option ID = 3977]

2. AwWZRO2 HIrTs)

[Option ID = 3978]

3. AW RTE 983 961

[Option ID = 3979]

4. RA 3 ATES T

[Option ID = 3980]
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J; B9 wids-fagz & a9z =9 udd 99 foe 3 7 O =& fage faar df fimrs e
31 SFeAHE Udd AT § HEH & SfFe-AHve §631 & Aras Al J M3 GR 2
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Yoz d v d 3 fogs udd J wiel JI wivd withile feg Wesl Fderd § gnsl Hat 5
el 31 GudEs Aids-gadv T Aid3 578 Aefis o, gueei § for & usg
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[Question ID = 996][Question Description = 191_24_Punjabi_0CT22_Q91]

Flis-fagz S w3foss 3 Sefag a=

[Option ID = 3981]

2. wigs-fogs 2 IHe ydAar & wigie

[Option ID = 3982]



3. Fid3-fog3 & AHAe Adara & s

[Option ID = 3983]
4. wids o Aluzas S a=fogds

[Option ID = 3984]

2) Iz fed O3 2 wore 2 UR IR yRst @ At feamu g2

Aid3 fefenr & §3393 Qua o Tt ©f 508 Fid3-AHEmE, Aids-mHifEmr S
fo 2 fefowr Shv IR 93T BH WUE » § 3339 AHTT 9| ol = fie fam
HE for A3 wruE wru fo fow fonfos feforr & wesl yus & = Afeor| Arids Addr
HEHY Ugg’ MUEEN 7 ge As| 95 § He 39 '3 55 Taur Re dewr a mee d
J; G9 wid3-faaT § 59z 29 udd 99 8 3 7 9% =8 fage oo f fimrs e
31 &i3a-mraa uda Aid3 § HaH o Sfaa-mire §ast = mas mHys S M3 8GR 2
= O Jet ) QuSes wet & <t armdt i 3 9 G mriosa fags v witrls a9
< 598 §A € Ugry 28 3oz 99 Io1 viE 9 Aid3 § B-AUgn fefenr ael Hisnr
e, §F dt Arfdz-wils &9 yowr Tuaer 31 wfirts g, #fipr, ygre wie fo
Yigs J A J 3 fags u=g J A ) e witnis fog vl raed § Bl Adl 5
tHeel 3 Qudes Aids-gwdv Udo” Fid3 &8 Refa3 g6, gueier g for < uag
N U3, §a Az fefenr w3 3-Auds fefowr fegare fode 59 & wivdl Fids-fefenr
I 3-Ieflamis € AT’ J96° 9o Ao, H foeas & de 3 wiE v feg Auds
21| fof B Qg yges! miifnr § e add 391 B yaus mitfmr o f=it (Methed) &
Ia| "8y fog, G wids-fefomre odt wfad 357, 95 7 g5 = witils 590" od=2
5 T &8 Fid3-ma] o fo2ad w3 fouas yfaast g 921
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[Question ID = 997][Question Description = 192_24_Punjabi_0CT22_Q92]
1. A3 g9dt Adeg Jf yiea ugy

[Option ID = 3985]
2. /i3 faa3 df Aid3 wiftls © sed by

[Option ID = 3986]
3. AfJ3 fags T one AFS

[Option ID = 3987]

4. FJ3 993 o9 Ud AHE Adag

[Option ID = 3988]



3) Iz el g 2 wme 312 @ yrs 2 At feamu g2

Hid3 feferr & 3393”7 Gug #d Tt ©F g Fids-AHiEme, Afd3-mHifamr set
for 2t fefenr S IAECMT =93E BY WUE »U § 339 AHTT 949) TR w e fag
HI & 7z wiue v fag o fonfos fafoer & ued yus & a9 Al Arids A=t
SEHT Uge WMUEE 7 gah Awl G § W 39 3 e wewr Re e wReE @
. fofsora. &5 AR, I Eimras| fofsome uda Frids o fiess =8 gios
J; §9 Fidz-f5o7 & 993 ¥5 usH 99 o4 3 7 97 =6 foge o of fimrs &8t
J1 &Fa-mrHa udd Afd3 § HaH ©f Sfsa-miva §ast = Aras gl 9 M3 GR 2
339 withils =28 fiows ot 51 5g3t =9 fsora-dfEa-mmg ude g yos
= On et Q) Quess udet & 25t avmdt fa 3 5 G wriuss faas T witnds a9s
<f S8 GA T 09T 25 gios O 961 T @ Aiud § A-AUgn fefomr ae HiaT
e, §F dt Arfdg-witvls 9 yowr Tuaer 3 wfirds figeg, 7pr, yge wife fag
Hfgg & W 3 3 593 ugg 3 v 31 wind withis oo wesl mraes § gasl Adl 5
il 31 LT3 Aid3-gwdh Udor Afd3 &8 A3 96, guai § for & usg
Ft| ug, Ba A3 fefenr w2 §-Audes fefow fegard fodar a9 & wivd! wids-fefemer
I 3-Iefamis € AT S96’ gd Ao, H foeas 9 92 3 wiuE v fog Auds
211 fon 8 Qg ygus! AHiktmr § I d9 391 B Yaas AHifEmT o feit (Methed) §
5| #ev feg, 89 wids-fefomrs ot wifed 3=, 95 7 g5 = witils 390 o9
6 TR &8 Fida-ma] o feesd w3 fousst yfaast §Fae =1

g guEe 99 § fan Yfaadt e use=e o

[Question ID = 998][Question Description = 193_24_Punjabi_0CT22_Q93]
1. guer ©f AHWY AUT6T

[Option ID = 3989]

2. JOsEd o Hisal HSS Heds

3.

[Option ID = 3990]
Joo o felgaresr

[Option ID = 3991]

4. goo T A=-HUT63T

[Option ID = 3992]



4) Iz feddd 2 woe 212 M yret 2 At famu g2

Hid3 feferr & 3393”7 Gug #d Tt ©F g Fids-AHiEme, Afd3-mHifamr set
for 2t fefenr S IAECMT =93E BY WUE »U § 339 AHTT 949) TR w e fag
HI & 7z wiue v fag o fonfos fafoer & ued yus & a9 Al Arids A=t
SEHT Uge WMUEE 7 gah Awl G § W 39 3 e wewr Re e wReE @
- fofzarAa, &fFa-Aqag, I8 - Eamad| kiEorg udo ATz @ figsa 28 gios
J; §9 Fidz-f5o7 & 993 ¥5 usH 99 o4 3 7 97 =6 foge o of fimrs &8t
J1 &Fa-mrHa udd Afd3 § HaH ©f Sfsa-miva §ast = Aras gl 9 M3 GR 2
339 withils =28 fiows ot 51 5g3t =9 fsora-dfEa-mmg ude g yos
= On et Q) Quess udet & 25t avmdt fa 3 5 G wriuss faas T witnds a9s
<f S8 GA T 09T 25 gios O 961 T @ Aiud § A-AUgn fefomr ae HiaT
e, §F dt Arfdg-witvls 9 yowr Tuaer 3 wfirds figeg, 7pr, yge wife fag
Hfgz & W 3 3 593 ugg I v 31 wind witeis oo wedl raes § gasl Adl 5
il 31 LT3 Aid3-gwdh Udor Afd3 &8 A3 96, guai § for & usg
Ft| ug, Ba A3 fefenr w2 §-Audes fefow fegard fodar a9 & wivd! wids-fefemer
I 3-Iefamis € AT S96’ gd Ao, H foeas 9 92 3 wiuE v fog Auds
211 fon 8 Qg ygus! AHiktmr § I d9 391 B Yaas AHifEmT o feit (Methed) §
5| #ev feg, 89 wids-fefomrs ot wifed 3=, 95 7 g5 = witils 390 o9
6 TR &8 Fida-ma] o feesd w3 fousst yfaast §Fae =1

AN QUETEMT E HY HETT A

[Question ID = 999][Question Description = 194_24_Punjabi_0CT22_Q94]
1. AHA-THSS & 99 Arfds-fagg o il sdo”

[Option ID = 3993]
2. wiaz3-fog3 © wog 3 Afas =homrs & GAgl

[Option ID = 3994]

3. migwgg Ehmrs < 358
[Option ID = 3995]

4. fofsor= 37 o4 Gas = HgEs

[Option ID = 3996]



5) Iz fed 1d 2w 3 12 @ A 2 et feamu g2

Hid3 feferr & 3393”7 Gug #d Tt ©F g Fids-AHiEme, Afd3-mHifamr set
for 2t fefenr S IAECMT =93E BY WUE »U § 339 AHTT 949) TR w e fag
HI & 7z wiue v fag o fonfos fafoer & ued yus & a9 Al Arids A=t
SEHT Uge WMUEE 7 gah Awl G § W 39 3 e wewr Re e wReE @
. fofsora. &5 AR, I Eimras| fofsome uda Frids o fiess =8 gios
J; §9 Fidz-f5o7 & 993 ¥5 usH 99 o4 3 7 97 =6 foge o of fimrs &8t
J1 &Fa-mrHa udd Afd3 § HaH ©f Sfsa-miva §ast = Aras gl 9 M3 GR 2
339 withils =28 fiows ot 51 5g3t =9 fsora-dfEa-mmg ude g yos
= On et Q) Quess udet & 25t avmdt fa 3 5 G wriuss faas T witnds a9s
<f S8 GA T 09T 25 gios O 961 T @ Aiud § A-AUgn fefomr ae HiaT
e, §F dt Arfdg-witvls 9 yowr Tuaer 3 wfirds figeg, 7pr, yge wife fag
Hfgg & W 3 3 593 ugg 3 v 31 wind withis oo wesl mraes § gasl Adl 5
il 31 LT3 Aid3-gwdh Udor Afd3 &8 A3 96, guai § for & usg
Ft| ug, Ba A3 fefenr w2 §-Audes fefow fegard fodar a9 & wivd! wids-fefemer
I 3-Iefamis € AT S96’ gd Ao, H foeas 9 92 3 wiuE v fog Auds
211 fon 8 Qg ygus! AHiktmr § I d9 391 B Yaas AHifEmT o feit (Methed) §
5| #ev feg, 89 wids-fefomrs ot wifed 3=, 95 7 g5 = witils 390 o9
6 TR &8 Fida-ma] o feesd w3 fousst yfaast §Fae =1

gA gu=rEr = ygEst Wi 2t e

[Quelstion ID = 1000][Q_uestion Description = 195_24_Punjabi_0CT22_Q95]
1. gH gURTE USES FHIT § HeHE 39 3 Felerd g% 90|

[Option ID =3997]
2. gH guETS! UgES! MHITR § HEHE 39 9T 59T 90

[Option ID = 3998]

3. gl QU & uaEst FHfme @ e 3 o mem S @t st

[Option ID = 3999]

4. gAt gueel ugast mHifanr § vt gy = UEe S9e 961

[Option ID = 4000]

Topic:- 24_PARTC_S1



1) d=fedd3 2 woe 2 112 o yis® @ A feasu g2

Tfz-med = for =09 =98 Weand du 3 fufsaa 3 weao-fifsgs =5 fowr 3
J| Ffe-sey a4 AEE de 9 fn fem wishi vde =@ u3a for 72 e
fevEdt 3 AT Hea ©f AHOT oY, [BU1E s fee fiw 3 wiex 9 o mET g 9l
wWaH f2As 996 & I8IHT g3 U9l o 94 Ael arie-med 928 G o vy Aaer
3, THTaT 99T 5= J2| 5g3 Tl &caed § &'cdl BY 3 dul d, Ud §F a8 wries
i3 &<t It S sresad e & de 9, US 94 598 aredl 3 W 5R adl 39l A
At Fie-ocd de8 ga Jf {89 Ae 9, MR |8 Jie-yfss 3 aed Yz @ anis
J2| gfifeg o &t P 3= B Aes iv-oex foy Afow 3 o How oea) Fat
il oHE, FIHiS O, TET wie 2 Tfeaed AeE 0 Ufad o 38 &t
yfzer adll vEd 98 efe-yfyTr adi i3 aes foo o Segeu AT ke der 31 o9
U3 WU A’ 935 Y 97 o 589 | 24-2Y UFd g4 =0 =24-2 399 =g di3

g Ta| I3 2 IIT F94 © Weas dui 96, WA &8 &ed 94 593 Aeh
g
B Fe-5ed ger o

[Question ID = 1001][Question Description = 196_24_Punjabi_0CT22_Q96]
1. Hies < SraanH AHfT § UF 596 %

[Option ID = 4001]
2. wr3fHg-Tec of Unddl ada @F

[Option ID = 4002]
3. =8 Ugslaas' § Ud 9d6 @

[Option ID = 4003]
4. 928 BiogT g Ud 590 9%

[Option ID = 4004]

2) Isfed Ul 2 e 2 UR o yEe' @ Fel feasy g2

Ffz-med = for 209 =98 weand dor 3 fifsaa 2 wao-fifsas f=F fowr i
Jd| Ffe-ved §a Ae® ge 9 fn feg wisfe ede =% us9 foor 72 e
fenEst 3 Ay g6 ©f AraE 9y, B8 afes feg fig 3w 98 o mvay 9 91
wIH f2As g96 & g8 IHg gdiE! I O 94T Aes aie-5ed 928 §a ot 5y Aer
d, Rg= o9 =1 J2| Bd3 T &cawd § &'l BY 3 ol J, ud G 98 =ik
yfysr et gt S srewers dor ot e 3, U9 OF 3 wredh 3 it B9 ol g A
HeEs Ffz-aed d=8 §a Jt foy e 3, fon a8 afe-yfse 2 el yfFo @ o'
J2| Sfieg 9 Ot P I TH A28 Ti=-oex By Afw d A2 HIw oesl g8t
wirfes oHE, FoE O, TET wie 2 Tfeaeg A a9 ufe® 2T 38 et
yfzer ol AEA 98 Srfe-yfsTr adl @3 oed fou i 29eu 9T e de 31 od
UEd WUE AYT @EIEY O F 55 J| 24-24 U39 g 2l 249 399 Re a3

g Iol 913 S S99 94 2 WEas guin 96, WA 58 &'ed J'9n 593 AgS
g
ez & mET .

[Question ID = 1002][Question Description = 197_24_Punjabi_0CT22_Q97]
1. gfz3r o gy Aolgs »3 AffHE g d)

[Option ID = 4005]



2. Eg-wgH Fiea yies ys= odi (e Ae|
[Option ID = 4006]
3. gz fSg voy feAs ga6 of Aag islaz I 3]

[Option ID = 4007]
4. giez wag § foge3ng gu fog UA 596 &8 sg3Hss" 3 faga vl J

[Option ID = 4008]

3) Js e Ul 2 e 2 UR o yEe' @ Fel feasy g

Fiz-med = for 2099 =098 wieand dvr 3 fifsaa 2 wao-fifsas f=F fowr 3
d| Ffe-ses G #Ew g 9 fon feg wisfie ede =@ u39 foor 92 e
fenEst 3 Ay g6 ©f Arae oY, B8 afes feg fig 3 wéa 9t o avay d9t 9|
W fers 596 ©f 98 3HT gdiE 99 of| 99T AeE Iie-&ed 328 g of oy A
3, HI= O9r 3= J<| 5J3 T &cad § &'cdl By 3 9ol J, Ud G 98 ik
Uiz wat It S8 sresad O w4 g 9, U9 88 aresl 3 i B adl gol A/
HeEs Fie-acd a8 Ba Jf foy A 3, R a5 arfeyfse 2 e Yz — o
32| aftes o ot P 3= TH Few Thewed foy A 3 i How oed| g9
WiTfes HE, BITS O, AT Wfe 2 Ffeaed A 591 UlIS °F 38 aed-
izer ol AEA &8 Srfe-yfsTr adl @3 oed oo i T9ed AT e de 31 o9
USd WIUE AT 9IS 9T § 55 J| 24-2Y U39 5y 2 242 399 e i
g Tol 913 2 ITT 9 2 WEEs gei 96, MA &8 &ed J'9d 593 BB
g g

S Ffe-ored 88l Jgdl 4 -

[Question ID = 1003][Question Description = 198_24_Punjabi_0CT22_Q98]
1. Fieyfss 3 sree yiss

[Option ID = 4009]
2. T3

[Option ID = 4010]

3. @l yfzer

[Option ID = 4011]
4. AOTIS 09

[Option ID = 4012]



4)  I=fed 13 2 wore 2 12 o yret 2@ Al feamu

Tfz-med = for =09 =98 Weand du 3 fufsaa 3 weao-fifsgs =5 fowr 3
J| Ffe-sey a4 AEE de 9 fn fem wishi vde =@ u3a for 72 e
fevEdt 3 AT Hea ©f AHOT oY, [BU1E s fee fiw 3 wiex 9 o mET g 9l
wWaH f2As 996 & I8IHT g3 U9l o 94 Ael arie-med 928 G o vy Aaer
3, THTaT 99T 5= J2| 5g3 Tl &caed § &'cdl BY 3 dul d, Ud §F a8 wries
i3 &<t It S sresad e & de 9, US 94 598 aredl 3 W 5R adl 39l A
At Fie-ocd de8 ga Jf {89 Ae 9, MR |8 Jie-yfss 3 aed Yz @ anis
J2| gfifeg o &t P 3= B Aes iv-oex foy Afow 3 o How oea) Fat
il oHE, FIHiS O, TET wie 2 Tfeaed AeE 0 Ufad o 38 &t
yfzer adll vEd 98 efe-yfyTr adi i3 aes foo o Segeu AT ke der 31 o9
U3d WIUE AT @938 9T F 55 J | 24-2Y U39 5 2dl =49 3g9 =g a3
g Ta| I3 2 IIT F94 © Weas dui 96, WA &8 &ed 94 593 Aeh
g g

UqEl © Aed Fie-aeaad o
[Question ID = 1004][Question Description = 199_24_Punjabi_0CT22_Q99]
1. s SHE Yed orfe-areserd J1
[Option ID = 4013]
2. Hovil3 IR YTias Fie-aeaer J|
[Option ID = 4014]
3. gféea o A TfE-aeswd 9|
[Option ID = 4015]

4. g =0 oeded Ol A Jie-oreaad 30|

[Option ID = 4016]

5) Is fed Ul 2 woe 2 R o yEe' @ Fel feamy g2

Ffz-med = for 209 =98 weand dor 3 fifsaa 2 wao-fifsas f=F fowr i
J1 af=-meg §a Azs 9= 3 fA feg wisfs e =% u3a o 7= e
fenEst 3 Ay g6 ©f AraE 9y, B8 afes feg fig 3w 98 o mvay 9 91
wIH f2As g96 & g8 IHg gdiE! I O 94T Aes aie-5ed 928 §a ot 5y Aer
d, Rg= o9 =1 J2| Bd3 T &cawd § &'l BY 3 ol J, ud G 98 =ik
yfysr et gt S srewers dor ot e 3, U9 OF 3 wredh 3 it B9 ol g A
HeEs Ffz-aed d=8 §a Jt foy e 3, fon a8 afe-yfse 2 el yfFo @ o'
J2| Ieg 99 If i T TH ALs Fi=-oex By Ay 3 A2 gow sl g9
wirfes oHE, FoE O, TET wie 2 Tfeaeg A a9 ufe® 2T 38 et
yfzer ol AEA 98 Srfe-yfsTr adl @3 oed fou i 29eu 9T e de 31 od
UEd WUE AYT @EIEY O F 55 J| 24-24 U39 g 2l 249 399 Re a3
g Iol 913 S S99 94 2 WEas guin 96, WA 58 &'ed J'9n 593 AgS
g g

M3 ores fog 399 & ghiee

[Question ID = 1005][Question Description = 200_24_Punjabi_0CT22_Q100]
1. g3 S I9eF o'ed © I WHIS odl g 95 |

[Option ID = 4017]



2. 33 €M Iow oreel o'dH © Megs gui 96|

[Option ID = 4018]

3. 93 oo fog Aditas S © aut Ho3< ol 9

[Option ID = 4019]
4. 3 ey feag wor Tagau g3 feo adt den)

[Option ID = 4020]

Topic:- 11_GP_SH1_Set1_A

) The following tahle shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket, tennis, handball
and football. Based on the data in the table, answer the questions. (A student can play

one oF more games or no game at all)

Class -wise students participation in sports.,

Percentage (%) of students who like
Class | Number of students = =
| Cricket | Tenmis | Handball | Football

A 240 60% T0% 50% 60%
B 280 b0% 60% 60% 50%
C 320 40% 65% bb% 45%
D 360 65% 18% 65% 5h%
E 480 T0% 80% T5% 45%

FrafafEs T 7w T = ofe Fenen (A-E) T a8 faentaar 5w s 5 wans 0
& AT W UFE =5 & 30 aian | (v ol vw we 9 wihe @ i 9 G@e T8 9e a@9a) 7))

we B Fan-an fEntde i i

THE FH A faEEr # e (%)

A 240 60% | 70% | 50% | 60%
B 280 50% | B0% | 60% | 50%
c 320 40% | B5% | 55% | 45%
D 360 65% | 75% | 65% 55%
E 480 70% | 80% | 75% | 45%

The number of students in the school who like to play cricket is

P T T T R 2 e 1 B e B o 1 e e P I o R 2 R P o

[Question ID = 1506][Question Description = 101_00_General_27_0CT22_Q01]

1. 872

[Option ID = 6021]
2. 364

[Option ID = 6022]
3. 082

[Option ID = 6023]
4. 1022

[Option ID = 6024]




2) The following tahle shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classez who like to play cricket. tennis, handball
and football. Based on the data in the table. answer the gquestions. (A student can play
one or more games or no game at all)

Class -wise students participation 1n sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tennis | Handball | Foothall

A 240 60% 70% 50% 60%
B 280 50% 60% 60% 50%
C 320 | 40% | 65% 55% 45%
D 360 65% 78% 65% 55%
E 480 70% 80% TH% 45%

{EE= i ol 2 = e O o o e e e = 0 O 0 e B 0 O 12 2 = s i e = e 1 e -
et =1 wfAea (%), T FFe. ZAE. S3E W FEA el 968 FG 7, WEEE Al AR A
F AAET W UET -5 T I dau | (v el uw me @ whaw 3 w6 6 e 96 59 a7 7))

A § HAT-IF [SEniaE F 9EiEE

- IR T A e o aeeE (%)
A 240 60% | T0% 0% 60%
B 280 50% | 60% 60% 50%
C 320 40% | B5% 55% 45%
D 360 656% | TH% 65% 5b%
E 480 T0% | 80% T5% 45%
The number of students who like to play Tennis in Class A 1s ———— % less than those

who like to play Handhall in Class E.

FET A H THEE TeE] T H G e w0 T we EOH Rmere Gedl THE S T A
T | T Tfae (%) 9

[Question ID = 1507][Question Description = 102_00_General_27_0CT22_Q02]

1. 40

[Option ID = 6025]
2. 50

[Option ID = 6026]
3. 53.33

[Option ID = 6027]
4. 56.67

[Option ID = 6028]



3 The following tahle shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket, tennis. handball
and football. Based on the data in the table. answer the guestions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tenmis | Handball | Football

A 240 60% 70% 50% 60%
B 280 b0% 60% 60% 50%
C 320 | 40% | 65% 55% 45%
D 360 65% 78% 65% 58%
E 480 70% 80% 5% 45%

frafafEs oo 7 o faemem =t o= Fenen (A-E) T O 8 faenfaar 5w s 5 wansi 0
F AT W 99T -5 T I Aia0 | (v el ve me @ 9ias 3 #5029 we 969 59 996091 7))

T-\ﬁ i’ {q Fal—=17 riaa ﬁ’j‘-l- %[ 7] 3 7

s w AT T A = 1 aEeE (%)
wz | 2Fm | Bzam | TEIm
A 240 60% T0% 50% 60%
B 280 50% | B60% 60% 50%
C 320 40% 65% 2b% 45%
D 360 65% To% 65% 5b%
E 480 T0% 80% TH% 45%

The ratio of the number of students who like to play cricket in Class B to that of the number
of students who like to play Football in Class C is

F4 B H e T THE F A9 [GaEniidl i we #1399 w4 C § I Ger 96 # a
[Question ID = 1508][Question Description = 103_00_General_27_0CT22_Q03]
1. 36:35

[Option ID = 6029]
2. 31:36

[Option ID = 6030]
3. 35:3T7

[Option ID = 6031]
4. 35:36

[Option ID = 6032]



4) The following tahle shows the number of students in each of the five classes (A-E) of a school
and the percentage (%) of students in these classes who like to play cricket, tennis. handball
and football. Based on the data in the table. answer the guestions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students - -
| Cricket | Tenmis | Handball | Football

A 240 60% 70% 50% 60%
B 280 b0% 60% 60% 50%
C 320 | 40% | 65% 55% 45%
D 360 65% 78% 65% 58%
E 480 70% 80% 5% 45%

frafafEs oo 7 o faemem =t o= Fenen (A-E) T O 8 faenfaar 5w s 5 wansi 0
AT WY -5 F 30 snan | (v Tl v we 9wt e 9 w@e T65 59e 3] 7))

we B Fan-an fEntda i e

s w AT T A = 1 aEeE (%)
A 240 60% | 70% a0% 60%
B 280 50% | BO% 60% 50%
@ 320 40% | 65% 5b% 45%
D 360 656% | TH% 65% 55%
E 480 T0% | 80% 5% 45%

If M is the number of classes in which more than 180 students like to play handball, then M=

Tz M =9 Fame1 = "5e 2 T390 180 § wies el ssa oo 9692 1 2, @ M=

[Question ID = 1509][Question Description = 104_00_General_27_0CT22_Q04]
1. @

¥

[Option ID = 6033]
2. 3

[Option ID = 6034]
3. 1

[Option ID = 6035]
4.0

[Option ID = 6036]



) The following tahle shows the number of students in each of the five classes (A-E) of a school

and the percentage (%) of students in these classes who like to play cricket, tennis. handball
and football. Based on the data in the table. answer the guestions. (A student can play
one or more games or no game at all)

Class -wise students participation in sports.

Percentage (%) of students who like
Class | Number of students —— -
| Cricket | Tenmis | Handball | Football

A 240 60% 70% 50% 60%
B 280 b0% 60% 60% 50%
C 320 | 40% | 65% 55% 45%
D 360 65% 78% 65% 58%
E 480 70% 80% 5% 45%

frafafEs oo 7 o faemem =t o= Fenen (A-E) T O 8 faenfaar 5w s 5 wansi 0
F AT W 99T -5 T I Aia0 | (v el ve me @ 9ias 3 #5029 we 969 59 996091 7))

T-\ﬁ i’ {q Fal—=17 riaa ﬁ’j‘-l- %[ 7] 3 7

| A T i (%)

A 240 60% | T0% | 50% | 60%
B 280 50% | 60% | 60% | B50%
5 320 40% | 65% | 55% | 45%
D 360 65% | 75% | 65% | B55%
E 480 T0% | 80% | T5% | 45%

The maximum percentage of students in Class A who do not like to play any of the given four
games can be

F41 A § 31 faenfdm = siasan giaee e 7 g% 2 A 20 T 9 =@en 9§ FE O = J@en
[Question ID = 1510][Question Description = 105_00_General_27_0CT22_Q05]
1. 40%

[Option ID = 6037]
2. 10%

[Option ID = 6038]
3. B0%

[Option ID = 6039]
4. 30%

[Option ID = 6040]

Topic:- 11_GP_SH1_Set1_B

D Which of the following is outside the perview of characteriztics of learning?

fefefEn 7 % wiem Fi G F afify % St 985 o 27

[Question ID = 1511][Question Description = 106_00_General_27_0CT22_Q06]



Learning is a life long process

[Option ID = 6041]
2. Learning is a temporary change in behaviour

TN SR | U AR A 7

[Option ID = 6042]
* Learning is prompted by individual needs

s Safdas swETgFaren o uf B R

[Option ID = 6043]
4. Learning is transferable

AT FEATOT =T 2
[Option ID = 6044]

2) Which of the following operations comes under the pre-active phase of teaching according to

Philip. W. Jackson?
et M M 2 B s 12 O o el e B o e o B2 i 12 s o o e e s e e

[Question ID = 1512][Question Description = 107_00_General_27_0CT22_Q07]

1. Diagnosis of the learners

[Option ID = 6045]
2. Decision about the strategies

[Option ID = 6046]

3. Aetions and reactions

[Option ID = 6047]
Selecting appropriate testing devices

[Option ID = 6048]

3) Given below are two statements ;

Statement I : In synchronous mode, both teacher and learners are present at the
same time,
Statement II :  Tutors in online spaces do not have the opportunity to show partiality

and steadfastness towards knowledge,

In the light of the above statements. choose the most appropriate answer from the options
given below :



419 51 F9A 50 M0 E

Foa 1:  waFTs e, Fees v sfeme 5 v # w5 W e e

FoE I :  WEess 9EAEl ¥ SEEAE () F TE 7 F W 1A 90 s Tws o 6

=T 21
IHRIF FUH F AR °, 5= B I SeT § 1 g9 39T I F1 9499 S

[Question ID = 1513][Question Description = 108_00_General_27_0CT22_Q08]
1. Both Statement I and Statement II are correct

w7 1+ [TaFT o9 7

[Option ID = 6049]
2. Both Statement I and Statement II are incorrect

T2 [ 97 =M 7o 7

[Option ID = 6050]

Statement I 1s correct but Statement IT is incorrect

[Option ID = 6051]

Statement I 1s incorrect but Statement II 1s correct
F97 1790 8, oied #99 [ o8

[Option ID = 6052]

4) Arrange the following five elements of ‘Pedagogy’ given by Herbert

(A) Generalization
(B)  Assoclation

(C) Presentation
(D) Application

(E) Preparation

Chaoose the correct answer from the options given helow :

Fae A1 T2u 70 foanmes & FHefaiga 5 aea o saaiedy e

(4) AW
(B) TE=d

(C)  wgaram

(E) #=m

419 20 0 el § H HEl I @ =99 FiEm
[Question ID = 1514][Question Description = 109_00_General_27_0CT22_Q09]
1. (E). (D), (B). (A, (C)

[Option ID = 6053]
2. (E), (C), (B), (&), (D)



[Option ID = 6054]
3. (Q). (E). (B). (D), (&)

[Option ID = 6055]
4 (B), D). (E), (C), (A)

[Option ID = 6056]

%) Mateh List I with List II :
Tiast T List IT
(Learner attrbutes) {(Meaning)
(A) Problem-solving (I} The ability to reflect upon the meaning
and analysing the facts
(B) Creative thinking (II) The ability to address a problem for
suceessful cutcome
(C) Critical thinking (ITI) The ability to look at things differently
and find new ways of solving problems
(D) Decision making (IV) The ability to select a course of action
which would lead to desired outcome
Choose the correct answer from the options given below :
It-1 % g -1 e e
=1 =1L
g (viera)
(A) FEET - FEEE M =@ % Fw FEs wE AT 99 F
Tave1aa Fa =h1 G 4]
(B) FaATEE = (I) A% 9FTH =7 T AT I
(C)  AmrETTaF =i (D) F=a1 +1 o= &= ° I@5 @7 F5
D) s (IV) ©F TH 97 F = 6 A PR e

#i= =0 v faFem 5§ 98 507 1 994 A
[Question ID = 1515][Question Description = 110_00_General_27_0CT22_Q10]
(A, B)-ID). (C)-@). M)-IV)

[Option ID = 6057]
2. (A)}(IV), (B)-(II), (C)-(D), (D)«{IIT)

[Option ID = 6058]
3. (A)-(ID), (B)-(D), (C)-(IV), (D)-(IID

[Option ID = 6059]
4. (A)-IV), (B)-(TID). (C)-(L). (D)~(IT)

[Option ID = 6060]

6) Coding paradigm is extensively used in

e

g 5 ° Fad Fis TaEE 5 3990 9T #9 ° fHa Am 2 Y

[Question ID = 1516][Question Description = 111_00_General_27_0CT22_Q11]



1. Language analysis
a7 TareTm

[Option ID = 6061]
2. Conversational analysis

[Option ID = 6062]
3. Grounded theory research

HraTieR THEm e

[Option ID = 6063]
4. Covert ohservation

TH TE
[Option ID = 6064]

") The analytic - iInduction strategy i1s a method of

s
]

g e R | L e R e T Rt R M= = 1 R
[Question ID = 1517][Question Description = 112_00_General_27_0CT22_Q12]
1. Quantitative analysis
gfrgmmers e
[Option ID = 6065]
2. Qualitative analysis

[Option ID = 6066]
3. Field observation

EERE

[Option ID = 6067]
4. Participatory analvsis

[Option ID = 6068]

? Which of the following are included in the positivist paradigm of research?
(&) Quantification
(B) Construction of hypotheses
(C) Use of objective measures
(D)  Subjective analysis
(E) Rejection of theories

Choose the correct answer from the options given below :



1.

CrafafEs § 8 F19 9 79 F TEETE WeuE 5 e =
(A)  FFEEiEFT

(B)  TitFear 7 Ham

(C)  FE=F=s 919 T 35

(D) AT ETeE

(E)  THgm1 Ff 35=F0 = 360

41 f2u v faeReTt § 0 ORI 999 Fian:

[Question ID = 1518][Question Description = 113_00_General_27_0CT22_Q13]
(A). (B). (C) only

== (A). (B). (C)

[Option ID = 6069]

2. (B). (C). (D) only

Fa1 (B). (C). (D)

[Option ID = 6070]

3. (C). (D). (E) only

Faw1 (0). (D). (E)

[Option ID = 6071]

4. (A). (D). (E) only

Fa (A). (D). (E)

[Option ID = 6072]

9) Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) : Experimenter's bias is-a real issue at different phases of research.

Rea=on (R) : A researcher can influence the results of a study by mistakes in ohzervation

and data entry. either intentionally or otherwise.

In the light of the above statements. choose the most appropriate answer from the options

given below :

i 3 FYR 5T E U AHEdd (Assertion (A)) F F9 ® fFiaw 7 7 59 345 F00 (Reason (R))

FETH :
AT (A) - wig = fafas = § TErEl @ YEeE U avaas 99 B
F0 (R) : FFA] NET 3 Sl 1 WA AEgEE 31 =9 T F O A5 w

IO T T T O 2

T FUE & T °, = 2 famen 9 9 wed 399w I F 99 Fa0



[Question ID = 1519][Question Description = 114_00_General_27_0CT22_Q14]
. Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 37 (R) 21 67 7 3 (R), (A) i &8 = &

[Option ID = 6073]
2. Both (A) and (R) are correct but (R) i2 NOT the correct explanation of (4)

(A) =1 (R) = 91 B, R (R). (A) 1 w0 e 6

[Option ID = 6074]
3. (A) iz correct but (R) is not correct

(A) =71 2, |16 (R) 081 981 7

[Option ID = 6075]
4. (A) i2 not correct but (R) is correct

(A)TAT 5 3, = (R) 7RT 7

[Option ID = 6076]

10) Given below are twao statements :
Statement I : A discrete variable can represent only finite set of values.
Statement IT : A continuous variable can be broken into subparts including fractions.

In the light of the above statements. choose the correct answer from the options given below :
f a1 Fo GE e 2

Foq 1:  3EGS =7 Fae] BET & UHHT TE=9 & 5971 T £

F99 I1: Tad =7 =1 97 964 399 H 995 = 73 T 21

2 L T 9 B e 1o ot e 15 B - Ll £l 2 e 3T 1 e 1 1 L

[Question ID = 1520][Question Description = 115_00_General_27_0CT22_Q15]
. Both Statement I and Statement IT are true

Fo 1 97 =0 73 2

[Option ID = 6077]
2. Both Statement I and Statement IT are false

Fo 1 37 11 =F1 53 &

[Option ID = 6078]
3. Statement I is true but Statement IT 1s false

F97 I 909 7, =ihd 9 11 599 &

[Option ID = 6079]
4. Statement I is false but Statement II is true



Fom [ 31879 7, =0T 599 L9 7
[Option ID = 6080]

) In two-step flow of communication, messages pass through

{A) Mass Media
(B) Opinion leaders
(C) Bureaucracy

(D) Spiritual leaders

Choose the correct answer from the options given below :

YT F Z-HME] U= 7 689 HEihE 3 7 TR §
(B)  wifama fmtars

(C) e

(D) AT TEA

di= Tou v faedl § § el 300 0 =9 FiEm

[Question ID = 1521][Question Description = 116_00_General_27_0CT22_Q16]
1. (A) and (B)

(A) %71 (B)

[Option ID = 6081]
2. (B)and(C)

(B) ¥ (C)

[Option ID = 6082]
3. (C) and (D)

(C) = (D)

[Option ID = 6083]
4. (A) and (C)

(A) =7 (0)
[Option ID = 6084]

12) The real basis of communieation is

T ] TSR ST R

[Question ID = 1522][Question Description = 117_00_General_27_0CT22_Q17]
1. Peer pressure

TOFAE — FEE

[Option ID = 6085]

2. Personal ambition

qAFTF TEraTEIA]




[Option ID = 6086]
3. Common experience

HqE. 799

[Option ID = 6087]
4. Desire for divergence

[Option ID = 6088]

13 ; "
) What are the key features of transactional model of commumeation?

{A)  Absence of noise

(B) Extensively used in interpersonal communication
(C) Feedback is a new message

(D) Role exchange by encoder and decoder

(E) Encoder and decoder discrimination is the order

Choose the correct answer from the options given below :

(A)  FETEA = OAYE

(B) W SgEaF IO § SANF 7T IS

(C)  fgr= v F91 929 2

(D) Tz AEgH AW [FFF IO YHHE T ARTA-TER
(E) ¥z wgH &7 fages #1 fangs #ins sga 7|

= T T 5 9 w9 3 T Fia

[Question ID = 1523][Question Description = 118_00_General_27_0CT22_Q18]
- (A). (B). (C) only

Fae (A), (B), (C)

[Option ID = 6089]
2. (B), (C). (D) enly

F4 (B). (C). (D)

[Option ID = 6090]
3 (O), (D). (E) only

7+ (C), (D). (E)

[Option ID = 6091]
4 (A), (D). (E) only

Fa4 (A). (D). (E)

[Option ID = 6092]



14) Given below are two statements ;

Statement I : The transmission view of communication 1s both hegemonic and
mechanistie.
Statement IT : The ritualistic view of communication emphasises the factors of

commonality. communion and fraternity.

In the light of the above statements. choose the correct answer from the options given below :

dE S wE Er T E

Fad I

o 11 :

HER T TN 31 F AEIEIFA AW 6w 2 2 A

HER F TRAAF 2T # A, Sl 31 S S5 92 W A e S 2

EU T TR DO S B T [ T 1 il L e e e e e o e T o 1 L

[Question ID = 1524][Question Description = 119_00_General_27_0CT22_Q19]
1. Both Statement I and Statement IT are true

a4 140 [ 2H @5 7

[Option ID = 6093]
2. Bath Statement I and Statement IT are false

w97 | A1 O &M #3590 =

[Option ID = 6094]
3. Statement I1is true but Statement IT is false

Fuq 1907 2, @iF 9 1L 390 7

[Option ID = 6095]
4. Statement I is false but Statement II is true

T4 1 7803 7, ol #9= [ 909 7

[Option ID = 6096]

15) The sequence of zones In kinesics is

(A)
(B)
(©)
(D)

Personal
Intimate
Public
Social

Choose the correct answer from the opticns given below :



B) ==
(C) TETEF
(D) =T

4= Tau o faFea § 1 W 390 #0999 S

[Question ID = 1525][Question Description = 120_00_General_27_0CT22_Q20]
- (A), (B), (C). (D)

[Option _ID = 6097]
2. (B), (C). (D). (&)

[Option ID = 6098]
3.(C), (D) (A (B)

[Option ID = 6099]
4 (B). (A). (D), (C)

[Option ID = 6100]

16) A group consists of 3 males. 3 females and 5 children: The average age of the males is 50
years, that of females iz 45 years and that of children iz 10 years. What iz approximate
average age of the group?

U Hgz 5EE 3 99, 3 OfEAn v9 5 = 2| 9FW Sl Wi 9 S0 39 7, Al i AEa 96 45 94 7
vg == 1 WET 9 10 T 3| YR F 0O STET A T 6

[Question ID = 1526][Question Description = 121_00_General_27_0CT22_Q21]

1. 32.5

[Option ID = 6101]
2. 3045

[Option ID = 6102]
3. 2845

[Option ID = 6103]
4. 3145

[Option ID = 6104]

17)  Find the next number in the series given below :

7,10, 15, 22, 33, 46. 7

= &1 el g B st e T S
1. 10, 15, 22, 33, 46,7

[Question ID = 1527][Question Description = 122_00_General_27_0CT22_Q22]
1. 61

[Option ID = 6105]
2. £8

[Option ID = 6106]

3. /5

[Option ID = 6107]



4. 3

[Option ID = 6108]

18) The daily income of three persons A, B and C 1s in the ratio of 2: 5: 11 and the income of B 1s
Ra. 291 more than that of A. Find the income of C

A = A, Bod C 7 A #1 574 2:5:11 % 3399 § 7 vg B #1773 A 1 379 9 201 59U A0+
F C=y W= T

[Question ID = 1528][Question Description = 123_00_General_27_0CT22_Q23]
1. Rs. 679
679 T

[Option ID = 6109]
2. Rs. 1.746

1.746 %00
[Option ID = 6110]

3. Rs. 1.067

1067 590

[Option ID = 6111]
4. Rs. 1.256

1,256 ¥q0

[Option ID = 6112]

19) Two numbers are. respectively. 28% and 25% less than a third number. What percent is the
first number of the second number?

=1 T AT WA # WA 28% WW 25% FH 7| TEell el gH Hie] Al Aiaad B
[Question ID = 1529][Question Description = 124_00_General_27_0CT22_Q24]

1. 104.16%

[Option ID = 6113]
2 90%

[Option ID = 6114]
3. 92%

[Option ID = 6115]
4. 96%

[Option ID = 6116]

20) A dealer sold three-forth (3/4%) of his articles at a gain of 20% and the remaining articles at
the cost price. Find the gain earned by him in the whole transaction.

U T A AT T R 34 9T D 20% ATE T A= S AT T Al W A e WA 53 7E
e 0 39F g AfAd = T A W EATH-dGed e 2 7

[Question ID = 1530][Question Description = 125_00_General_27_0CT22_Q25]
1. 20%



[Option ID = 6117]

2. 18%
[Option ID = 6118]
3. 16%

[Option ID = 6119]
4. 15%

[Option ID = 6120]

21 . ; g 2 3 ; 5.0 P
) “T think you will find that this bail out is the best option before our organization. especially

because disagreement may indicate that this company is not the right place for you™ Which
informal fallacy 12 committed in the above argument?

“F TrEeT % T 3w aon 5 9w 39 Fuw s e F and dame e fawen 7, w faee =1 9 3w
FAVEE 7 FIH FTH FEEEG § 7% TEf 5 w9 & T 38 w5 A T e e a6 20T

ﬂéﬁ T T 8 Wi =] AR a5 A HiAEd o

[Question ID = 1531][Question Description = 126_00_General_27_0CT22_Q26]
. False alternative

o= T9ened

[Option ID = 6121]
2. Cireular argument

[Option ID = 6122]
3. Appeal to force

[Option ID = 6123]
4. Appeal to iInappropriate authority

[Option ID = 6124]

22) \Which of the following statements are contraries?

(A) All men are mortal
(B) Some men are mortal
(C) Some men are not mortal

Dy No men are mortal

Choose the most appropriate answer from the options given below :



fifra 4 4 Fm 8wy e 2
(&) T T E

B) T T 7

(©) T2 T4 97 T 7 7

(D) A T AT AR AW A

1w fou v fompedt B | wEH S9EE I F 95 A

[Question ID = 1532][Question Description = 127_00_General_27_0CT22_Q27]
1. (4) and (C) only

Fae (A) J7 (C)

[Option ID = 6125]
2. (B) and (C) only

Fae1 (B) 57 (C)

[Option ID = 6126]
3. (B) and (D) only

Fad (B) 27 (D)
[Option ID = 6127]

4. (A) and (D) only
Fa (A) 37 (D)

[Option ID = 6128]

23) Which of the following statements are logically equivalent?

(A) Some animals are birds.

(B) Some birds are animals.

(C)  Some animals are not non-birds.

(D) Some animals are non-birds.

(E) Some non-birds are not non-animals.

Choose the most appropriate answer from the options given below :

TR J 5 F | T A g0 J 90E A
(A) Tz T 9 FE A
(B) = U U 7 A
(C) = w9 -9 75 7 R
(D) T T W A R
(B) 3 f-uaft - 75 719 7
e faw T foreut | W wEE ITEEE I H =9 i
[Question ID = 1533][Question Description = 128_00_General_27_0CT22_Q28]

. (A), (B) and (C) only

a3 (A). (B) =1 (C)



24)

1.

[Option ID = 6129]
(A), (C) and (D) only

a3 (A). (C) = (D)

[Option ID = 6130]
(B) and (C) only

g (B) =7 (C)

[Option ID = 6131]
- (B). (C), (D) and (E) only

Fa (B). (C). (D) w7 (E)

[Option ID = 6132]

Given below are two statements :

Statement I :  According to classical Indian School of Logic inference for oneself is
called Svartha Anumana.
Statement IT :  Svartha Anuména is a syllogism and has to be presented in language.

In the light of the above statements, choose the correct answer from the options given below :

s s

FE L. AF % HEGE AEAE A F AN T F 0 A =Y SaeE weend #)

FuF I1: =19 F99F =09 909 & 97 | 9 S WA A T e A

I O ORI O, A 0 0 e O 0 wE 3 SR 99 i

[Question ID = 1534][Question Description = 129_00_General_27_0CT22_Q29]
Both Statement I and Statement I are true

Fe [ I3 A9 7

[Option ID = 6133]

2. Both Statement T and Statement IT are false

Fom I a7 I 3A1 3799 7

[Option ID = 6134]

3. Sfatement I1is true but Statement IT is false

+27 1973 7, = o I o950 &

[Option ID = 6135]

4. Statement I is false but Statement IT is true

99 [ 9903 2. = e [ o 2

[Option ID = 6136]



25) According to classical Indian School of Logic which of the following steps of inference involve
application of the universal concommitance to the present case?

(A) This hill has fire

(B) Because it has smoke

(C) Whatever has smoke has five, e.g. an oven

(D) This hill has smoke which 1s invariably associated with fire
(E) Therefore the hill has five

Choose the most appropriate answer from the options given below :
TH F YEAE WA BG F AEN F9HF F (BE @A 3 908 TR0 6 6 A weate w0
AT R R
(A) A TEE T A 2
(B) TETF THE 9 7
(Q) == %7 HOgHA A A B, 9 e
(D) =9 9=E 0 A0 7 A FoEe 9 9 Jeanan
(E) sgfm 9=rsi § =1 B

Fr= Tom T fem ¥ e I I R =99 e

[Question ID = 1535][Question Description = 130_00_General_27_0CT22_Q30]
1. (C)and (E) only

Fad (C) =17 (E)

[Option ID = 6137]
2. (B) and (C) only

Faet (B) # (C)

[Option ID = 6138]
3. (C)only

Fa (C)

[Option ID = 6139]
4. (D) only

Faet (D)

[Option ID = 6140]



26) Suppose that the class grade for a six-week period is based on three tests (T:, Tz, T:), each of
which eounts for 15%, four quizzes (@i, Qz, Qa. Q4), each of which counts for 10%. and a
homework note book (HW), which counts for 15%. The grades are recorded in a spreadsheet
similar to the one below.

| A |B|C|D|E|F | G |H| I J
1| Name T2 |T2 |T5 |@ | Q| @ |Q |BHW | AvVG
|2 |Jatin |87 |92 80|76 |79 | 87 |74 | 90
|3 |Amit 91|85 |77 (78|88 96 |90 | 92
'4|Anil |65 |72 |70 |80 81| 74 [77| 80

5| Anita |96 |88 |91 |76 |91 | 100 | 74 | 98

Which of the following formulae would NOT be a correct calculation of the six-week weighted
average for Jatin?

um witae R v 6 gEE-sEta F o owen (Avit) U= AW giem (T, Ta Te) f37@ 4 98 15% 71
Ui 7, I gAed Al () (Qu. Q2. Q. Qu), TiEH T weEw 10% 7 Il 7, 3% OF TEEE, 1
15% 7 OIS A W STAIR & | AT (3EE) R & e e TrEeie § 9 e al

A B|C|D|E|F|G H| I J
To [T |T5 @ |Q | @ Q| HW|AVG

|l

87192 |80 |76 |79 | 87 | 74| 90

.7|T‘:J
3|wfm 9185|7778 |88 | 96 | 00| 92
e |65 |72 |70 |80 (81| 74 | 77| S0

i

D|#AT |96 |88 (91 (76 |91 | 100 | 74| 98

F=fefEs 9 8 #9-1 93 9009 =1 T ™ 6 9o o1 e F UF 599 Tised T8 w5 v
[Question ID = 1536][Question Description = 131_00_General_27_0CT22_Q31]
1. =B2+«015+C2%0.156+D250.15+E2+01+F2%0.1+G2+0.1+H2+01+12+0.15

[Option ID = 6141]
2. =(B2+C2+D2+12)*015+(E2+F2+G2+~H2)=0,1

[Option ID = 6142]
3. —((B2+C2+D2+712)+1.5+(E2+F2+ G2~ H2)/10

[Option ID = 6143]
4. =(B2+C2+D2+12)/15+(E2+ F2+ G2+ H2)/10

[Option ID = 6144]

27) Which of the following devices from the list A — E given below are output devices only?

(A) Blu-Ray disc

(B) Buzzer
(C) Web-Cam
(D) 858D

(E) Laser printer

Choose the correct answer from the options given below :



4= % 7 A 9 E 9% 1 g1 8 7 et we-d affmat Fae areere () gfEwat 27

(&)
(B)
(C)
(D)
(E)

= 71 57

L 1

TH TH 31

=y o

#r= fem o faeal § | 9E 39 T == Fia

[Question ID = 1537][Question Description = 132_00_General_27_0CT22_Q32]
1. (B) and (E) anly

F94 (B) 377 (E)

[Option ID = 6145]
2. (A) and (D) only

T (A) =17 (D)

[Option ID = 6146]
3. {C) and (E) only

Fae (C) 377 (B)

[Option ID = 6147]

4. (E) only

T (E)

[Option ID = 6148]

28)

Mateh List I with Last I :

(A)

(B)

(C)
(D)

Tast T
{(Computer Term)
Avithmetic and Logic unit (ALT)

Control Umnmt (CU)

Random Access Memory (RAM)
Read Only Memory (ROM)

List IT
{Description)

(I) Stores part of the operating system
currently in use

(IT) Carries out operations such as AND,
OR. NOT

(TITy Stores bootstrap loader and BIOS

(IV) Fetches and manages execution of
each Instruction in turn

Choose the correct answer from the options given below :



-1 & mng G-I = e i

L T
(A) =ravies ug Aitaw gz (TuA g) (D F9AE A WEAE Y H TR s
Tov=n = T = F@wEd A Al

(B) vz Iz (H 7) (I AND. OR. NOT S# #heas
T A 2

(C) 77=8 TR TAM (7 U H) ) =527 == U9 = E @ TH R
TuleA FA1 2

D) Tz T gHE (97 A7 ) (IV) e 91 1 3999 ] 7 A0

W SR W A e 2l

= fou v fapedl 6 9 HE I F1 959 A
[Question ID = 1538][Question Description = 133_00_General_27_0CT22_Q33]
1. (A)-@V). (B)-(IID), (C)-(1D), (D)-(T)

[Option ID = 6149]
2. (A)(IID). (B)-IV), (C)-(I), (D)-(ID)

[Option ID = 6150]

3 (A)-ID), (B)-(IV). (C)-(D). (D)-(IIT)
[Option ID = 6151]

4 (A)-ID. (B)-(D). (C)-AV). (D)-(I1D)

[Option ID = 6152]

29)  Gonsider the following email fields in email software

To : Ravi@gmail.com

Cec : Rajan@gmail.com. Raj@gmail.com

Bee : Rakesh@gmail.com

Which recipient(s) 1s/are able to see all the other recipients?

3-HA HHa H AEeiEd -9 A9 SeE W EEn wian
To : Ravi@gmail.com

Cc : Rajan@gmail.com, Raj@gmail.com

Bee : Rakesh@gmail.com

R an e e il e e e BB = | e A o e e Bt

[Question ID = 1539][Question Description = 134_00_General_27_0CT22_Q34]
1. Rajan, Raj and Rakesh

[Option ID = 6153]

2. Ravi

e

[Option ID = 6154]
3. Rajan and Raj



[Option ID = 6155]
4. Rakesh

i-l

[Option ID = 6156]
30) Given below are two statements ahout online search :

Statement T : Google search results return the same information to anyone who enters

the same keywords.

Statement IT :  Search engines are gathering vast amounts of information about our
searches and ourselves.

In the Iight of the above statements, choose the correct answer from the options given below :
fra 2w e #
AT = 530§
FR1: T T fraee | T o g T wes (6 93) A uEE 3 w9 gw e a2

FEIL: @ 590 (7 5f) 2 = 4R AR = F W § g1 F 959 95F F U O A

FHETF FYH F T °, i B Gwear 9 1 w8 I w5 99 Fiae

[Question ID = 1540][Question Description = 135_00_General_27_0CT22_Q35]
1. Both Statement I and Statement IT are true

[Option ID = 6157]
2. Both Statement I and Statement 11 are false

Fu [ A7 [1297 587 7

[Option ID = 6158]
3. Statement I is true but Statement IT is false

F I 9T &, it oA L 95 2

[Option ID = 6159]
4. Statement I is false but Statement I1 is true

o 900 2, A w0 ¢

[Option ID = 6160]



31) Organochlorine peaticides such as DDT's human toxicity is comparatively lower. It is their
impact on food chain that leads to acute human toxicity. Ther properties that cause them to

be impactful on food chain are
{(A) Persistence

(B) Insolubility

(0 Solubility

(§p)} Polarity

Choose the most appropriate answer from the options given below :

E i i B L = e e e e = M s e e e B S0 Lt e e b L R R
T ArTE W2 Al 2] I UH FA-H 0 E A 3% JE0 49 W gHEy 849 2 -

(A) Hldrq

B)  FALTTEIE

(C)  Fereitetar

D) gF
e T2 U Taehedl § W W ST S R wE SR

[Question ID = 1541][Question Description = 136_00_General_27_0CT22_Q36]
1. {A) and (B) only

T (A) = (B)

[Option ID = 6161]
2. (A) and (C)only

T (A) 517 (C)

[Option ID = 6162]
3. (A). (B) and (D) only

Fae (A), (B) 57 (D)

[Option ID = 6163]
4. (A), (C) and (D) only

Fad (A), (C) 317 (D)

[Option ID = 6164]

32)  Which of the fﬁ]]owin.g are responsible for global cooling?

(A)
(B)
(©)
(D)
(E)

Halocarbons
Stratospheric ozone
Tropospheric ozone
Sulphate aercsols
Black earbon

Choose the most appropriate answer from the options given below :



FetaiEs 9 |5 F19-3 T divas 99E & 60 TEEE -
(A)  FETEEA

(B) HHAIIHESE MM

(©)  HrusEE SEE

(D) Tz TEE

(E) &1 e

dr= o T fEEeaT O Oed 399E I & 997 Fian

[Question ID = 1542][Question Description = 137_00_General_27_0CT22_Q37]
1. (A}, (B) and (D) only

Fae (A), (B) #7 (D)

[Option ID = 6165]
2. (B) and (D) only

F=m (B) =7 (D)

[Option ID = 6166]
3. (B). (D) and (E) only

a4 (B). (D) # (E)

[Option ID = 6167]
4. (C) and (D) only

Fae (C) 37 (D)

[Option ID = 6168]

33)  Which of the following are Sustainable Development Goals (SDGs)?

(A)  Lafe below water
(B) Lafe on land

(C)  Zero deforestation
(D) Clean water

(E) Clean Air

Choose the correct anawer from the options given below :
frefeates & 84 #iA—9 "od fawg s 27
(A = F A= S
B)  gE e
(C) 7=
(D) ===l A
(B) w==ad
% T T faEeT § § 5E T o = S

[Question ID = 1543][Question Description = 138_00_General_27_0CT22_Q38]
1. (A), (C) and (D) only



A (A), (C) 377 (D)

[Option ID = 6169]
2. (B), (C) and (E) only

#aa (B). (C) 37 (E)

[Option ID = 6170]
3. (A), (B) and (D) only

g (A). (B) =17 (D)

[Option ID = 6171]
4. (A), (B). (D) and (E) only

= (A), (B), (D) =7 (E)
[Option ID = 6172]

34)  India’s disaster management plan is based on

[Question ID = 1544][Question Description = 139_00_General_27_0CT22_Q39]
1. Senda Framework

[Option ID = 6173]
2. EKyoto protoeol

A T2
[Option ID = 6174]
3. Rio summit

[Option ID = 6175]
4. Montreal protocol

e .

[Option ID = 6176]
35) Blue hydrogen is produced by process of

FefenEa 0§ TRE Ui 5T A FISSIEA il SeTEA ml B

[Question ID = 1545][Question Description = 140_00_General_27_0CT22_Q40]
1. Electrolysis

[Option ID = 6177]
2. Steam reforming of natural gas or methane

TEFTe T A1 S99 gai (= i)

[Option ID = 6178]
3. Steam reforming of Bituminous coal



[Option ID = 6179]
4. Steam reforming of ignite

ForTse 1 W gEw

[Option ID = 6180]
36) The NEP envizages the setting up of

[Question ID = 1546][Question Description = 141_00_General_27_0CT22_Q41]
1. Regional Research councils

[Option ID = 6181]
2. National Rezearch Foundation

T T AASH

[Option ID = 6182]
3. National Research Commission

T T SAEE

[Option ID = 6183]
4. National Research Regulatory Authority

TEE Ty fEEEE e

[Option ID = 6184]

37) Which of the following are the advantages of distance education system?

(A) Free education for all

(B) Flexible system of education

(C) Encourages earn and learn approach

(D) No regular attendance 1s required

(E) Hizh and complex method of knowledee acquisition

Choose the correct answer from the options given below ;

o forn g o o FreAtenas 9 A #9957
(A) = = fom P e

B)  ToEn & g Tgh

(C) 3757 79 T34 390 F JeANET

(B) FH-%597 =1 3= v Fied =@

Frr fou 0 faeat B 1 T 39 99 T

[Question ID = 1547][Question Description = 142_00_General_27_0CT22_Q42]
1. (A, (B). (C) only



9 (A). (B). (C)

[Option ID = 6185]
2. (B), (C), (D) only

== (B), (C). (D)

[Option ID = 6186]
3+ (C). (D). (E) only

Fa (C), (D). (E)
[Option ID = 6187]

4 (A). (D). (E) only

= (A). (D). (B)
[Option ID = 6188]

38) Asrrange the following in chronological sequences from the beginning to the last as per the
vear of their establishment

(A} Indira Gandhi National Open University

(B} Karnataka State Open University

(C) Yashwantrao Chavan Maharashira Open University
(D  Nalanda Open University

(E) Dr. B.R. Ambedkar Open University (Andhra Pradesh)

Choose the correct answer from the options given below :

FHEfeTiEa 1 39 991 & 99 5 F9AF 909 8 A9 F Felhes 0 sagea i

(A)  STEn I T gas AT
(B) FAZF 759 o9 A aEeE

. —_—
(C)  TorEad == AeRTe 5o [=Hrdiaames

(D) ==e 59 favatEEee

(B) =0, 1.9, s#w g9 avaiaaem (sane)

g f2u 7w fosredl 0@ OE SO0 w1 94 R
[Question ID = 1548][Question Description = 143_00_General_27_0CT22_Q43]
1. (A). (C). (D). (B). (E)

[Option ID = 6189]
2. (E). (A), (D), (C), (B)

[Option ID = 6190]
3. (B), (C), (A). (E), (D)

[Option ID = 6191]
4. (E). (D). (A). (B). (C)

[Option ID = 6192]



39) Which of the following statements ave true regarding Takshashila?

(A) Indian Grammarian Panini had studied there.

(B) Renowned Physzician of ancient India Jivaka studied there.
(C) Xuan Zang studied Yogashastra at Takshashila.

(D)  Chinese scholar I-Qing visited Takshashila in 7 Century CE.

Choose the most appropriate answer from the options given below :

TS F W T T § 3 F 0w "R R 7
(A) 9T 3 A WO T SR A e
(B) W= 9WA F HUiNg (HiEcEE Siiae 4 g5 AIET a1 9

(C)  IEWE-TE 4 F419=1 4 R F A5 = 41

o)

(D) =F % FgE E-fan T 7= =€ 7w ud | Agien S g A
4 Tu v oo § A weE 39 I F 59 A

[Question ID = 1549][Question Description = 144_00_General_27_0CT22_Q44]
1. (B) and (C) only

T (B) 37 (C)

[Option ID = 6193]
2. (A) and (D) only

a1 (A) 47 (D)

[Option ID = 6194]
3. (A). (B). (C) and (D)

(A). (B). (C) =7 (D)

[Option ID = 6195]
4. (A) and (B) only

Fa (A) 97 (B)

[Option ID = 6196]

40) Match List I with Last IT :
List I List IT
(Name of the subject) (Domain)
(A) Shiksha (Il Metrics
(B) Kalpa (Il Interpretation
(C) Chandas (TIT) Phonéﬁcs
(D) Mimamsa {IV) Rituals

Choose the correct answer from the options given below :



= 1o vy g0 =0 fgerm il

=1 -1
(fam = =) (&)
(Ay forem O ==
(B) T D TFE= ()
(C) == (IIT) =i T
(D) wmE (IV) fifa-frars

9 v T e B 9 T I S 9he i

[Question ID = 1550][Question Description = 145_00_General_27_0CT22_Q45]

1.

2.

3.

4.

(A)-IID. (B)-(IV). (C)-(I). (D)-(II)

[Option ID = 6197]

(A)-(IV). (B)-(IID), (C)-(ID). (D)-(D)

[Option ID = 6198]

(4)-(I0). (B)-). (C)-(IV), (D)-(IIT)

[Option ID = 6199]

(A)-(IID), (B)-(D), (C)-(ID), (D)-(IV)

[Option ID = 6200]

Topic:- 11_GP_SH1_Set1_C

1)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national selidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agrneulture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mmdustral production. Yet agriculiure remaimed in private hands. Some eountries left feudal
systems of landhelding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industries from external competition. erecting high
tanff barmers. Others adopted a more flexible trade regime. selectively permitiing foreign
goods and capital into thelr territerv. An important factor in the history of modern Asian
nations 1= that of foreign policy. Countries governed by commumst parties were allied with
the Soviet Union. while other Asian countries allied with the united Statea. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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The newly hberated nations needed economic development for

74 (7791 F1 H) T 0 T 1 et # PRasieE i e i s 67

[Question ID = 1551][Question Description = 146_00_General_27_0CT22_Q46]
1. A broad political consensus

[Option ID = 6201]
2. (Governmental control

[Option ID = 6202]
3. Rejecting some policies

[Option ID = 6203]
4. National integration

[Option ID = 6204]



2)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the

Americans.
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In communist regimes. the aims of thelr core policy were to

{A) Eliminate the private sector

(B) Support family farms

(C) Accept different politico-economic initiatives
(Dy  Nationalise the industries

Choose the correct option given below
AT A T, SR 5T A F 355 9

(A) 990 &7 T w3 e

(B)  OYfETHE W HEEET 217

(C)  Tafus rarias - oias T==11 1 =HiFe

(D) S T TR

4= f2u U oot ¥ ¥ 1E AFeT g



[Question ID = 1552][Question Description = 147_00_General_27_0CT22_Q47]

1.

2.

4.

3)

(A) and (B)

(A) =7 (B)

[Option ID = 6205]
(B) and (C)

(B) =7 (C)

[Option ID = 6206]
(A) and (D)

(A) =7 (D)

[Option ID = 6207]
(C) and (A)

(C) =27 (A)

[Option ID = 6208]

Read the passage and answer below questions:

To end both mass poverty and political uncertainty., the newly liberated nations required
economic development. Rapid economic growth was required not onlyv to raise hving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colomial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant rele in
mdustral production. Yet agriculture remained in private hands. Some countries left feudal
systems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the question of international trade and capital flows. Some
countries rigorously protected their own industres from external competifion. ereecting high
tariff barrmers. Others adopted a more flexible trade regime. selectively permitting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations iz that of foreign policy. Countries governed by communist parties were allied with
the Soviet Union, while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not fo closely identify with either the Russians or the
Americans.
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The post-colonial governments preferred

SR JTEEl 3 s § 7 58 aim 57

[Question ID = 1553][Question Description = 148_00_General_27_0CT22_Q48]

1.

4)

Political uncertainty

AR .HI i 3 _ﬂg:liia = ;!

[Option ID = 6209]

Broad policy consensus

[Option ID = 6210]

International trade

AT SR

[Option ID = 6211]
Rigorous external competition

[Option ID = 6212]

Read the passage and answer below gquestions:

To end both mass poverty and political uncertainty, the newly hiberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national selidarty. Such was the broadly accepted
consensus, which, however, admitted of variations in policies adopted or rejected by post-
colonial governments. Where communists were 1n charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture, family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustmal production. Yet agriculture remained in private hands. Some eountries left feudal
syatems of landhelding intact: others gave ownership rights to tenants or sharecroppers.
There were also variations on the guestion of international trade and capital flows. Some
countries rigorously protected their own industres from external competition. erecting high
tarff barmers. Others adopted a more flexible trade regime, selectively permitting foreign
goods and capital into thelr territeryv. An important factor in the history of modern Asian
nations 1= that of foreign policy, Countries governed by commumst parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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In the case of foreign policy. Asian nations were

s At % et () # ofer Y
[Question ID = 1554][Question Description = 149_00_General_27_0CT22_Q49]
1. Divided

i

[Option ID = 6213]

2. United

U"'i; B (ol

[Option ID = 6214]
3. Neutral

o

AT

[Option ID = 6215]
4. Tnclear

HEE

[Option ID = 6216]



5)

Read the passage and answer below questions:

To end both mass poverty and political uncertainty, the newly liberated nations required
economic development. Rapid economic growth was required not only te raise hiving
standards. but also to sustain a spirit of national solidarity. Such was the broadly accepted
consensus, which, however, admitted of variations in policiez adopted or rejected by post-
colonial governments. Where communists were in charge, there was a push to nationalise
mdustries and eliminate private sector production units. In agriculture. family farms were
discouraged. Yet even in non-communist countries the state assumed a pre-dominant role in
mdustral production. Yet agriculture remained in private hands. Some eountries left feudal
svstems of landholding intact: others gave ownership rizhts to tenants or sharecroppers.
There were also variations on the gquestion of international trade and capital flows. Some
countries rigorously protected their own industrmes from external competifion. erecting high
tariff barmers. Others adopted a more flexible trade regime. selectively permtting foreign
goods and capital into their territery. An important factor in the history of modern Asian
nations is that of foreign policy. Countries governed by commumist parties were allied with
the Soviet Union. while other Asian countries allied with the united States. The latter were
attracted by Western financial and technical aid. Yet other countries chose to strike out on a
path of non-alignment. choosing not to closely identify with either the Russians or the
Americans,
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The passage attempts to analyze in respect of newly liberated countries
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[Question ID = 1555][Question Description = 150_00_General_27_0CT22_Q50]

1.

2

3.

Their post-colonial politico-economic policies

I TAHATERT A - ST AT =

[Option ID = 6217]
- The need for protectionism in the global market

dfvas AT 8 WAEE Fl ATEeEEal #

[Option ID = 6218]
The importance of non-alignment

TZ-fnaaT & e

[Option ID = 6219]



4. The henefits of Western capital

ufr=Hl 931 % HEed #

[Option ID = 6220]






